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#O $1,000{FROTE $100
21O $1,200fit O $100
=0O% T $2,000)BE O $150
FEOM $100[5TOF $100
BIOHE $100[7RO $300
#OH $100[5ROEFH $300
FO& $100[ 5= Offg $300
Ok $2,000|7= O $1,000
FHO#E $1,000) B O $500
FO% $5.000) B O3 $500
e O $700]f O $100
e O $700[ 2 O $100
O $700[EHOFT $100
ZIES $600,000] = O ({0 $200
FEO $2.400|EOFE $100
RO $2.400| POt $100
BROH $100[E=OL $100
ZOligg $100[B1OA $100
BRO$ $100[E= OKE $100
+O=E $100| EOH% $150
BROFT $100[FRO%E $150
BROEETR $600[BROZ $150
AEOBE) $200,000[FEOF $500
(O $1,200) i O $100
2O $2,000] 1 O=L $100
£Z0% $1,000{4CO= $100
BO= $5,000{50O%h $100
BO®E $500[ & O $100
FOH $1,000) % Of $100
ZO1= $200[ 2 OF $100
PROBE $1,200)FEO%% $100
ROE $1,200)B OF& $100
B OF(] $1,200) 5 O%#, $100
RO $1,200|ZF O $300
O $1.200| B O $300
& O%8 $1.000[FF O fif $100
BROR $500[ETOf $100
O $600[t5OF- $100
PO $100[EHOH $100
=0 $100[FAO #h $100
2I0H $1,000]BEOFK $100
HO®R $500[FROZ $100
ROFE $1,200[FR O 1 $100
EOH $1,200|EL O $100
RO $400[BEOH $100
MOE $400[BR Ot $100
MOHE $400|f OF $100
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FO®E $1,000)fOZ $100
ISl YANG $2,000[FROE $100
FOX $500f Ot $100
AIOYT $600 R O4F $100
GO $600[ 2O $500
ZOHf $600|PEOEE $1,200
204 $600| 15 Ojl $5.000
s T OM $600| [ O $1,000
FROY/A $600 | FR O $200
BOEGE $6,000|7RO & $1.000
HORE $100[ETORKL $100
£0UAE $1,200{ ROk $100
£0H $1,200|1210% $100
ZOJN $1,200| B O $100
£Z0B $1.,200| PO $100
BO== $1,200[#O & $100
FRORL $250[FE ORI $100
FHOEE $100[O%H $100
T O $250[EB O $100
RO $100[FO1a $100
+OE $200[EPO = $100
BRO#E $100[E O $100
ZIOE $40,000|EFO75 $100
HOME $1.500[2£OH $100
BHOE $20,000[faf O $100
BO&E $1,200)BEOBH $100
FOEE $2,000[ O = $100
O $1.200[z=Odn $100
A O $100|E=O% $100
HOR $200[=OFE $100
w05 $100] &5 Ol $100
FOF $100[OE $100
FORR [#D) $1,200|5ROA§ $200
FO=E $1,000[ O $200
=OK $500[ = O= $200
HOT $100[EROZK $200
O $100[53O $1,200
FOR $1.200[R OB $600
BRO1E $1,000|AROF $600
=0O%+ $100|AOH $600
BROZE $500] =2 OFAL $200
FOZ $500[#O %] $200
s O $100[#OF= $200
AEORF $1,000|#H OFE $200
=(OLS $500[FHOBE $200
RO $200[t5 O $200
TOE $1,000] kO3 $200
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BROBH $1,000]H O $200
BOZEEFER $500[# Oth $200
BOEEFER $2,000|#H O $200
FEOIH $100# O T $200
BRO B $250[H O $200
RO $250[FO% $600
BROH $2,000{ = O $200
FORE $5.000|EOH: $200
fRIO& $1,000|FE O $200
HOE $500[ZBO*E $100
BRO i $2,000|#H O $100
O $1,000( % Ot $1,000
EO% $1,200) 5O $1,200
g Ot $1,200) B OFF $200
HOMR $100[ = OFF $200
#Ola $100[ = O $200
MO $100| = O $200
2O $100[B1O# $200
O $100[ &= Offf $200
£Z0OH $100[/RO1E $200
GO $1.200[z= OBk $200
g O $1,200) 5 OF] $200
GO $1,200[#5O%F $200
HOE $1,200| £ ORELED $200
g Ofgt $1,200| 5Ot $100
FOF $100[#5OF 7 $100
wOE $1,200) B O $500
HOH $1,200) POk $100
£Z0O= $15,000|ZPOF5 $100
BO# $500[FO $100
HOL $1.200[FBOF( $100
FO/E $1,200|EHOF $100
g O $1,200|f O $100
MO $1,200|4af O] $100
FOuk $1,200|Z O $100
RO $1,200[EOEARS 5 $100
ROE $1,200)3FO4: $100
PROZR $1,200|FOF5 $300
MO $1,200| EOEEEZ $100
s O $1.200{EO# $100
PO $1.200[FRO= $100
BRO#E $1,000| O $100
BROFE $1,200)8£O8 $100
T O $100|Z2OREE $100
BRO $1,200)3 Oz $100
RO $1.200{fZ2OR*E]E $1,000,000
AEONE $500[F= O] $500
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BO $1.000[FOE $100
RO $1,000|FO $200
MO $300[EOT $5,000
FOH $1,800|HOf= $50,000
BRO3 $500[)TO= $50,000
FOH $1,000|1220F5 $500
FEOM $300[#£O $1,000
IO $1.000|1 O 7 $300
BIOxE $1,000[FEO & $500
BOFE $1,000| £OF 1 $200
G O $250[BROf& $500
i O $250[FOE $1,900
O $200[ 5= O $200
HOME $200| =05+ $500
IO $1,000| O $200
FORE $1,500( % O[El $100
O $1,500) % OE $100
ZOH $300[#O 2L $100
A OHk $300[#O 2L $100
RO $300[#£0O*% $100
ROR, $300[#£0O% $100
LOZER $500[21OH $100
O $500[m=O%E $100
sTORE $100[m=O%E $100
FOH $500 R OfE $500
ROZE $2,000) 7 O $500
FOE $500)ZO#E $100
BOE $500[m= O $100
HO $50,000|F O $500
=OA6 $1,200| = OFEEE $1,000
SOZ. $10,000[5FO% $10,000
RO $1,200)5=0O%5 $50
EOIR $400|FOFF $100
EOIR $400|FOFF $100
H OB $200[EROZ2 $1,000
H OB $200[=OZ¥ $1,000
FZ OB $600[ 4 O&L $600
RO $600|FHOP $500
H O $1,200)2RO%L $300
O $1,200| =05+ $1,000
£O $1,200| = O $20,000
=0+ $2,000{ = O $10,000
1 OBl $1.200) O $10,000
FR O $2.400[EE O $5,000
AO% $1,200)5B5 O $1,000
#FOZ> $1,2001FOE $500
B OxE $2,000] Pk O%L $2,000
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FHOR $1.200[z=07t $2,000
H#HOAE $1,200 |52 5 BT AL SR $800
PROZ $50,000| ik OF $600
HO=E $1,200{FRO#F $300
O $1,200) 2= Otz $300
BROEE $50,000) B O$#, $300
RO $3,000) B Opk $500
w= O, $1,200| EO= $300
HOF $1,200[FR O 75 $300
HOE $1,20018 O $100
HOH $1,200)5=OH $200
FHOF $1,200) BE Ok $300
HOEAE $1,200|EO% $1,000
FOK $1,200[ &£ O&X $200
FOME $1,200)BROAE $4.000
PROAH $1.200[FF O $100
E=ORY $500) 8 OFk $1,000
BROAR $1,200|2E Ot $1,000
BO% $100[#FH O $500
BO#H $100[fHO= $30,000
BO#H $100[#FOFZ $5.000
£Z0Om $100[BR OBAE $500
BROIT $1,200|EROEH $3,200
S OL/NBK) $200) B $10,000
A O $1,200) &£ Ot $300
HEOXL $600[5= OZREFK $1,000
ZOfE $1.200 [ Ok $100
HOBEE $1,200)150O 5 $500
BO% $1,200[t5O & $12,000
HOK $1,200|=0L0 $400
FOEL $1.200|1#k O3 $2,000
OIS $1.200|2£O % $1,250
RO $500[ER OFK $1,250
HOE $1,200)1220f(& $1,250
FHOE $1,200[22O%E $1,250
=0% T $500[=Oi% $520
TOFE $200| kO $3,000
20 $100[FECOTETE R $2,500
ROEE $1,000{BROHE $500
i O $1.000{#R O $1,000
SOfRED $10,000|{af OBAREZR $100
£ZOE $500|HEOFL $200
TO% $200[BROSL $500
BRO[E $100]F Of: $300
BROH $100[FF O $1,000
BO% $100| =P8 T fb e $1,000
RO $2.,000{E.O18 $1,200
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FO%= $2,000[7ROEE $1,200
£ $1,200) Ok $2,000
FHOTE $1,200(PBEOFE $600
FOE $1,200|#EOF $600
H=OR $1,200[FROZF $6.000
BROZ $1,200|FE OFF $1,000
L@ $3,000|FE OFF $1,000
H A $1,200|122 O $6,000
TO= $1,200{=O%F $300
EOX $200,000[HO%E $600
GIOES $1.200|2£OfF $500
H#OIT $600 R O $600
£08E $600|2OF5 $600
BRO%E $600[ = O $600
BOTR $600[EXO%H $600
HOE $1,200{ &= O5A $600
TOE $1.200[22O%F $500
tROZE $600 &k O $600
MHO& $600[BROZE $600
AOE $600[FROZ= $600
MO $1,000|BE O3 $600
s O $600[F1O5 $2,000
FAO= $1,700|1210°& $5,000
HO=E $600[ RO $600
RO $600 | O $600
PROAL $600[AROFE $600
JBOR $1,000{ A& O%Hi $600
+O& $10,000[ AR Oy $600
ROF $200[=OF $1,000
BIOHH $200[EHOTH $250
HESF $1,200,000[FHO % $250
i OB 4% (H0) $10,000|5%=O & $10,000
7 ElI ] $1.200{ O $1,200
BROBT $300[F O $800
H O $1,500|# OF& $400
OBk $1,200) 57 Ot $600
O $1,200| FOFEE $2,000
HO#E $1.200|FO# $20,000
B O $1,200) RO $600
HOE $1.200(FROF- $1,000
FORESE $1,200)FHOFF $3.000
HOR $1,200|FO%E $1,000
PROJE $300[7ROHk $2,000
st OsfibE $300[#FOE) $5.000
s OsfibE $600[t5O %% $250
EROZE $100[t5OFH $250
EROZE $200{t5OFH $250
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sROE $100|22O#k $250
sROR $200[{= OJiF $100
FFOER $900| = OFEE $100
A [@N $1,200| = O $100
HO5 $10,000| =0 $100
HO% $500|= O#E $100
HOE $300|BIOte $100
g OB $100|FROZE $100
BOR $100| = O $100
BROIE $100(& Ot $100
JHEOF] $100|= O $100
RO¥ $1,000|5ZO)E $30,000
FOEEE $400|5EO%E $1,000
FOHKE $200| B O] $1,000
HOLL $1,200] 22O $1,200
PROE $150|ZO%Hi $1,200
250 $100| O $1,200
TROZE $1,200{FOfE $1,200
SOl $1,200|Z2OH $1,200
=0 $600|1#%5 O & $2,000
FOT $100|1#1 O $10,000
RO $300| RO $1,000
ROEE $300|1 RO 2k $25,000
EOHE $600[#R O T $25,000
@) $1,200|EF O LR () $1,800
SO $300{E OB $300,000
RO $1,000| EO% $600
=O $5,000F +5F $200,000
RO $500|1 RO $1,000
B O %k $500| 5RO $1,600
RO $100|5RO= $4,000
O $1,200|EEOB & $1,000
EOME $600|1 ROk $1,000
HO¥% $100| = OFF $100
O $100|8£ O EREIZR $800
= O $200FOF $1,000
RO $1,000|1220 5% $200
SO $600|1 RO $200
FOHEL $1,200{ZIO¥k $200
7HO $600[ZEORS $300
RO $600|&x O3 $1,000
PR OF% $100,000| 2O $1,000
HOHE $100|&kOFF $1,000
ROEF $200( P OF5 # $500
TRO#E $300|= O $1,000
51RO $200|FE O $1,500
TROZEE $600{#5OIIE $500
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POt $100[#5OWIFE $500
w3 $100[# O $500
BIOH $100[{TO4E $100
s O $100|Z2OREER $500
SOl $1.200{52 O $100
s Offg $1,200[FR Ot $300
O $1.000{F5O% $1,200
SORE $10,000|4OF&F $1,200
BO== $1,200)1220f(& $1,200
PROH $1,200|F£: O $1,200
HOLE $600 [ O’ $1,200
O $1,200| O F- $2,000
HOZ $1,200{5&O7H] $500
g1 O] $1,200)#H O $215
st O $1,200{FHOF $1,000
EHOR $600| BHHE $2.400
BROF $200[=OF $5,000
BROE $200[fAI O PR $500
EOWM $200[F O $500
EOTT $200[ T O% $600
EOR $1.200 T O## $400
SO $200[fr OB $250
O $200[= O $100
HOZR $200| £ O $250
#HOJI $1,200[% O F 7 $200
FOI $1.200|2£0% $500
BROH $100[ZFOHk $500
BRORL $100|Z2OK $500
FOHL $150)= ONE $10,000
PROZE $150[ROF53E $300
BROZZ $150[#H O1FE $100
BROFH $100[FH O $1,000
RO $100[#FOF= $200
RO $100|FEO= $2,000
BOB $100R OF5 5 $101,000
AEOFEH $500[HEOF $100
fiE OTE $100[#O $300
fitt O>L $100[fRO=E $150
LO= $100[=O#h $500
O $100[=O#h $500
g O $100[E= O $500
O $100|HEOFE $150
2OZ $100[gOHT $600
HEOZ $100| % Ot $600
PROZ $100[ZEO T $600
s O $100|2£O%t $600
SO $300[EFOHE $600
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HOEE $300[EFO% $600
s Offi $100[FHOF $100
sTOfE $100[m= O $100
BOT $100)=0 $1,000
EHOH $100| =05+ $100
sHO# $100[fROF= $500
ZOREH $600[ = O $100
BROEK $100[m= O $200
RO $100[z=0OH1 $500
BRO B $100[#FOFEAL $1,000
@) $100[)ZO*E $100
FROH $100[m= O $100
BROTE $100|5=OH $100
BROE $100[21OZ> $100
BROZ $100|F O%H $1,000
BROE $100| EO= $300
BROHH $100| EOH5 $500
BROLT $100| 52O $100
+O= $1.200{ 5O $100
JiO5% $1.200{52O#5 $100
JTORK $1.200{EOH $100
RO $500| 52 ORELL $200
PO $2,000[FEEOH $1,230
MHOEAE $100[BBOZFE $600
MHOEAE $100[F=O $10,000
L O $1.,200) 2 OZEA 5 $100,000
FEOFX $1.200[FRCO $1,200
TEOBAE $1,200|B O R $1,200
BRO#E $200[ = O $1,200
HROZE $1,000{ZF O $1,000
sTORL $100[FE O $50,000
PROZE $100|E O $1,200
RO $100[EO%F $1,200
BROZZ $100[EO= $1,200
PROR, $600[FBOF $1,200
PROZE $600[FRO B $1,200
PO $100|BROZE $1,200
BROTE $100pTOF $1,200
BROTE $100/E Ol $600
FOX $1.200(#F OF& $2,000
FOtH $1.200(t5 O $2,000
O $1,200(PBEOAN $1,200
O $1,200[FR O $1,200
TOE $1.200[FHOEE $1,200
EO&% $1,200)TOtH $1,200
PROZE $600[3EO= $1,200
PO Hi ] $600| EOH $600
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FRO <] $600|HHOE $100
JBO4 $600[ 2O $100
BEO $600|E OFx $1,200
AHOE $100|EOR $1,200
FEORM $100)Z2OF= $1,200
HEOH $100|ROE $1,200
R OfE $1.200[z=0O% $10,000
EHOH $600[FEEO= $10,000
+O= $600|2IO=F $10,000
#ROBL $1,200) BE Ok $300
O3 $1.200[=OfZ $2,000
RO $1.200[= Ol $2,000
FHOPTE $600[5O5E $1.000
BOE $600[&F O AR $800
PRO# $600[FROfE $600
BROHL $1,200{FE Ot $1,300
EOE $1,200|ZL O $100
HEOT $200[FO1a $100
A O] $1.200|#FO = $100
RO $1,200|EOf= $100
2ORE $1,200|E O $100
BPOFAL $1.200[2£OH $100
FOEH $1.200[=O= $2,000
ZO®E $1,200[FROF5 5 $600
MO $1.200 [T O 5 $100
=04 $1,200)BECOBH $100
BROBY $6,000| O = $100
BIOPTH $600[= Ol $100
FEOfEEN $1.200[z=OZ# $100
FOEL $100|E= O $100
ZOR, $100] &5 O Rl $100
PO $100{ = OREHS $2,000
PO $100[#HOZ $1,000
£ 0% $100[FHO/I $2,000
ZO% $100[F:OHF $1,000
HOE $100) 8 O>L $1,000
MHOE $100[ & OB $250
RO $100] % OR, $250
PO $100[3EO= $100
HOLT $100| EOFE $1,000
PHOLT $100[FRO# $100
FOH $100[HOF $1,000
FOH $100|7ECOH $1,000
MOE $100[= O $5.000
MOE $100[#FOF $100
HO1E $100[FEOE $300
HO1E $100[#AO%D $200
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ZOE $100[AOF $3,000
Z0OE $100[ERO1H $2,000
MHO%E $100|RO= $400
MHO%E $100[HROH $5.000
£0% $100[fT O $3.800
£0% $100[7RO & $800
£0OWE $100[5ROH#E $800
£0OWE $100[7ROEL $800
WO $100[F Ok $800
#HO4E $100|ZF O $1,000
HOZK $100 | O $600
O $100[f5O40 $1,200
O $100[ZF0O¥ $1,000
RO $100[5ROFH $1,000
BEOE $100[#RIESF $700,000
ZOE $100|122OF $500
O L $100[EROH $500
O L $100[OE $100
BHOZE $100| EOE $100
BHOZE $100[ZBOHE $100
BHORZ $100[FH O™ $100
BHORZ $100|12FO $10,000
2208 $100|1 =0+ $500
2208 $100[HO= $600
BEOW $100[BIOEARIZ $100
BEOW $100[##O%E $100
BOE $100|EOFG $300
BOE $100| EOBEEIR $100
BEOH $100[EO# $100
BOH $100[fROF= $100
BOH $100[EOZL $100
B OH $100[5FO= $500
BO# $100[f&r OB $100
BO#H $100|22OREE $100
O i $100[HEOz= $100
O i $100[ & Ot $100
FOE $100[E= OALHE $100
FOE $100[ZFOE e $6.000
BROE $100| =OF $200
BROME $100[ OB $200
FOF $100[ZFO#F $200
FOF $100[ZFO#F $200
FROSL $100[ZROEK $200
FROSL $100[ EOWT $500
PROHL $100[3LOF $500
ROHL $100[=OHIL $500
BROFT $100[E=OHE $500
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BROFT $100[ O $1,000
MHO% $100[7EOE $100
MHO% $100[ZFO1= $200
BRO $1,200|FO%& $1,800
RO $200[ O $1,000
FOiH $600[EROZE $1,000
BROBE $200[ZR O $300
ZOH $600| 5= $500
PRO®ESE $2.400p TOHEEE $10,000
g Ot $1,000{FOE $100
O $3,000| O $100
Z0O= $100|122O%F $500
Z0= $100)| £ O $100
ZFOfR $250| EOF $100
EAOLN $250[= Ot $100
BEOTE $250|EOH $100
FO% $250[ 5= Ok $100
O $100[F=0O $2,000
HO#H $100) 8 O% $2,000
EHOH $200( % Ot $2,500
RO $300[#F O $2,000
BROAL $100[BROTH $600
BROZE $600[FRO % $600
BROSL $600| &£ O <t:Fd $600
BHOZE $60075O4 $600
FEOR $600[FEO $600
ZFOHii $600[ & O $2,500
fit OB $1.200[EFHOR $600
g OH $1,200| O3 $600
PO $6,000[AEOF{% $600
FOE $1.200(#% 0O X $600
BLOXK $1.200|=0O%F $1,000
BOIlE $100[2[ O & $600
BOM & $100| O $600
FEOfE $100[HORK $600
FEOfE $100[ROFEE $600
FOi $100|Z2 O $600
FOi $100| EORE $600
PROME $1,200{f O ZE £, $1,200
ROE $200[AOHE $2,000
EOTE $1,200|122 0% $500
PO#HE $100[#FO& $10,000
BOHi $100[H O $500
FHOF $100[}OF $1,800
O $100[ & OB $100
FOF(] $100[EOE $100
PO $300[FROIE $100
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FOL $300[ ORI $100
FIORL $300| FOZFHE $400
ZORE. $1,200| O $200
sHOF $100[HEO4L $1,200
O3 $100[BROF $150
fafOle] $100/2£0OH4 $100
BOKE $1,200|F O $750
SO $10,000|7#=OE $1,200
HOE $200[Z£0O $600
FIORL $200[5FOT $200
O $200[7R O $300
BEOH $1,200)1 8O $400
BEOfH $1.200[5RO&=F $300
HEOBR $1.200[F O $600
O $100[ = Offg $300
£0OI1E $600[FROFE $500
£0%k $600 | FF O %k $500
RO $1,200[FF Oz $100
T OB $600[FEOFE $600
BO=E $1,200)% O% $100
KO $1.200[EHOFT $100
FAOEK $300] &= O (0 $200
ROFEE $300[7RO®E $1,200
ZRRes AR E] $500[5R O $1.800
5 RS- REAE $600|5=0O $1,200
#O $2,000{ kO] $100
TOEE $600[E=OL $100
OGRS $1,000{ZIOH $100
BROF $200[ 5= OKE $100
BROE $200[BRO $100
BOWM $200|F Ok $100
EOTT $200[ EOHk $150
SO $200[FRO%E $150
O $200[BROZ $150
HOZR $200 | Ot $750
SEORF $100[R Ot $1,200
O $1,000) B OF5 $100
£ O $600[BRE O3 $100
£08 $600| 2 OF $100
TOX $600[t5OAY $100
£0fm $600[E=OH $1,200
FOFHEE $200|F8 O KB $1,200
HOTT $200[O=82 $500
T O $600[HEOIE $100
BOMR $1,000)1i O=L $100
BROBE $200[40O= $100
w= Ol $400[BBO %) $100
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PO $2,000) % Of# $100
ZOE $100[ OB $100
SOk $100[ 2 OF $100
O $600|FEOZ $100
TOFE $600[FROF $100
O $600[=O#h $100
T OB $600[EBOHE $300
FOF $600|H O E $300
TOT $600[ET O $100
FO1H $600[ETOfZ $100
FOuE $1,000|#0OF $100
BROE $200[EH O $100
FO%= $200[FHO#h $100
ZO $300[z=OREH $600
A OUARZ $200[FROZ $1,200
MO $1,200| %O $500
KO $800 | F O $200
PROFZ $1,000|5£O1= $1,000
BO $100[5FOfL $200
=0 $100[#F Ok $200
EO $2,000|121O% $100
i OFE $2,000)BE O $100
fit Ot $2,000)BEO &, $600
fiti O $2,000) B O %% $600
s O $2,000| PO $100
RO $2,000 O & $100
ZIOH $2,000)FEOF $100
i Ot $1,000);E O $100
£OF $500[ kO $400
£Z0%kHE $600|7= O $1,000
O $600[7RO%E $400
BHOE $1,500)22 OFx $400
SOHE $1,200|122 OB $400
RO $1.200({FOZE $400
FRORL $1,000|## OF% $400
w=OR $100[EEO%E $400
w=OME $100 | i O $400
s O $100[ i O $400
O $100[#OF= $400
w05 $100[20= $400
RO $100[7ROF% $200
PROZE $100| % Ot $1,000
s O $100|FOff $500
w06 $100[ZFOH1 $500
=018 $100[E5O1E $500
BOE $1,200)1F O $500
HOFIL $1,200[FR OAB $100
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g ORI $3,000) B O $600
2O% $3,000)BEO=L $600
BIOF $100[EHOZ¥ $600
BIOFEH $100[FEOF& $600
2OJ= $100|ZF Ot $600
BIOEED $100| EO&ELED $200
B0k $100[# Ol $100
BIOE $100[#5OF & $100
FEOM $100[#HAOHk $100
BIOHE $100[# Ol $100
#£OH $100|FOF5 $600
FO& $100[FO $100
AROTH $100[ZBOF( $100
RO& $1,200|EHOF $100
FORE $1.000|f O $100
£0# $500[{TOlH] $100
O $1,000|E Oz $100
BOF $1,000{FE O $500
MO $5.000|121O8H $400
RO $200|fs OFx $1,200
PROYELE $200|F Ok $6.000
BROH $200[ O $100
RO $100|2O%2iG $1,200
BRO B $300| ZesRaR e A IR A E] $500
RO $300[HEO#h $500
EOZx= $1,200[#HOTT $500
RO $50,000)H O35 $500
BROH $500[FH O $1.000
BROME $500)ZO%z $1,000
=HOE $1,000| =05+ $1,000
SOH $1.500|=O%F $1,000
#rOAL $5,000| £OF 1 $200
HO=E $300[FRO== $500
=0%F $100|470O & $12,000
FOWH $1,200)B8OFT $300
B O $100[#E OPF $300
FOE $1.200{ZIOF $1,000
TOEE $100|ZF O $3,000
TOE $100[sE Ot $200
= Ok $200| O $200
HOF $200[f O’ $500
O $200[ OB $300
OB $200| O $500
RO $200[ O $500
BROHE $200| O % $300
HORE $100|=0 $200
=OX $100F Of: $300
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HO= $100[=OHIL $500
BOZE $100[m= O $500
g OBR $600[z=OFF $10,000
RO MK $3,000)122O%E $10,000
ZOX $5.000[AROFE $1,900
HOBECHE) $10,000|#FO%E $2,000
BROZ $1,200{ = O $100
%0 $5.000|2O& $100
HOH $1,200{FROHY $600
£20) $1,200( % Ofk $1,000
HOIR $200)| EO#E $500
#FORE $200[BR O & $100
BOZE $600[{HO#% $100
SBO%R $600[FEO*E $600
=HO®E $200[FEO%k $600
EOE $300,000[z=OF& $1,000
EOE $600[FEOE $600
HOE $500[EHOTH $250
sHO $500[EHOFE $250
sHOH $500]5O $2,000
RO $300|FEO % $20,000
BROHE $300 | OBl $20,000
RO $4.200{5 O $150,000
A O $100|FHOFF $2,000
FO1E $1,000|ZE O%k $600
OB $100,0005& O %k $2,000
ZEOWR $600[BROAK $200
PROEE $100,000[OEE $200
HO $300[t5O% $300
O $5.000|18OF $300
BO%Z $100[t5OFH $300
#FORBZR $800|2£ Ok $300
BROBK $400[= OF $200
CHOEES $1.000| O $200
BHOHE $300[F O $200
BOIE $300[15O%E $200
BO% $100[7kOFE $600
BOBE $300(5EO#E $600
FO% $200|FROE $600
#®O% $200 | OFF PR $600
HOEH $200[t5OFE $200
FROH $200[t5OF $200
A Of $500[F=O=# $200
HOE $200[ O $200
BOE $12,405| O $200
T O $200| £ O $200
TO& $200[ZF O, $200
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£0% $300| EOA D $200
i OF] $1,200[ O ) $200
s OBk $1.200) &= OG0 $200
w16 $300[HEOTE $200
EON $300[H£O $200
OB $300| O $200
ROEE $300[FEOZE(HD $600
O $1,200[E= O%k $600
EROE={CLY) $1,200|FHORE $1,500
=S OB $1.200[z=O8BY $1,500
FOX $1.000[z=ORd $200
w=OF $300[=OH $200
EO& $300[=Of& $200
B O% $400[ = O $200
BOE $300| 5 O (#0) $200
O $600[H: Ok $1,000
#O $300[=OH1 $100
20k $1,000{¥O% $1,000
BEOT $1,000)E= O $100
BOH $600[2OF $100
RO $600[#5 O $2,000
FOBE $500[FIOF $200
BIOZR $200[5Z Ok $200
e OFfE $100[BROSL $500
#HO _E4k $1,200) )i O1& $600
BORE $300| 0O $100
BO= $300| EO=E $100
FO* $200[#E O ZF 5= $2,000
EO% $200| (e BLEE AR/ E] $100,000
OB $200] & O $1,200
T O $200[ZF O $300
ZOR, $200[ & O $1,200
fEO/M $1,000[iFOE $1,200
B O% $1,000% OBk $1,200
O $1,200) &= O $600
TOEEHD $200[z= O $600
MHOBEHED $200[z= O#F $600
w= O $200)| 2O $1,000
HOE $200[PROE $1,200
HO $200[=OZ $1,200
O $200[ETOH $100
O $500[FH O $500
T O $500[ZFOtfg $600
O $200|5=OE $10,000
RO Tt $200);%O $600
BROR $300[ O $900
HOH $300[#O1E $900
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PROE $300[t5 O $900
FEOEED $600|E=OTE $600
O $600| 2O $600
B Of $500[EE OEY $600
£ZO% $500 & O] $600
FOHk $500| s OZFE $600
£ZOK $500[FEOL $600
s O $200[EE O $600
w=OH $200[FE O $600
w=OE $200[F O $600
= O $200[ = O $600
PROFE $300| EOFRZL $600
HOWEIE $100| O $600
w05 $100| EO= $600
RO $100[m= O $600
FEOWs $1,000| EOF $600
w=OH $500|ZF O $600
HOH $200| O $600
w=OH $100| £ O $600
O $100[E.O%F $600
FOF $100[5OF $600
BOE $4.000{52 Ok $1,000
Ok $500[FFO% $1,200
FOHEBR $100|E=0O+ $3,000
BROE $500[#£O $1,000
FO% $1,000|E=OJF $100
BEO $500| = O $100
SO $1,000) & O $100
BROE $500[=O $100
i O $1,000{E= O $100
EOE[H] $1,200) 21O $100
i O $200[FROE $100
HOH $200[=OFH $100
HOF $200[= O $100
HOH $200[=O1E $100
PO $200|210F5 $800
ROB $1.000|#EO358 $2,000
2O $200|2IOFk $200
Ok $200[2£ O $1,250
£Z0% $1,000)BEORK $1,250
RO $500[Z£OfE& $1,250
I O4 $100[Z£OF $1,250
RO $400[EFOFK $1,000
HORKE $1.000|#ROE $3.000
w1 O $500[ZOFF $200
BO% $600 | OF5 5t $500
ROF $600[fAf OBHREZ $100
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o O#E $1,000) 7= O%L $200
WOk $1,000)F O $600
BROHE $1,000) EOFEE $600
BROE: $600[Ed O% $1,200
fit O%d $1,000)BE O $1,200
SOEH $1,000[FEOEE $600
SOlE $1,000)220 $600
O $1,000[#O%% $600
POk $100[ Ok $600
O $1.200{5 Ok $600
S OF(] $500[5OE $600
PROEEL $4,300|=0OE $1,200
E2 S $4,000) 3Ok $600
BT $100,000| 52O+~ $500
B ik $10,000[F=OfE $2,000
PROK $100|E=0OMs $2,000
MO $100[FH O $600
FOZ= $100[FH O $600
MO $100[= OBt $600
MO $100[FO%d $600
PROPE $10,000[BROF $200
BRORE $10,000|BR O $200
ZO®E $1,200);E OfF $200
RO $2,000);&OFF $200
RS $8,100[ = OHE $200
RS $15311|{E=Of $200
HOZ2 0, $20,000| E Ok $200
BOR $200[FO1& $900
w=0fE $2,000{ O AL $200
s O $2,000| 52O $100
POHE $200|#£ O $1,200
O $2,000[FEOtF $200
TORERD $2,000)ZEOF% $600
B=O $3,000)BR O $2,000
RO $200[E=OF $2,000
£Z0/% $200[;&EO T3 $200
O $200[ 5Ok $500
FOE $200|FHOE $1,000
FH O $200| EORESD $2,000
HOZR $200[FOEL $200
O $200[ZF O, $200
A OFFI $200[ PO $200
OB $200(2£O% $200
BOFE $200[tFOF $200
Z0= $200[#E Ot $200
BIOF $1.200{#kOF7 $200
HOJ $2,000)47O H $200
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HEOEE $700[#FOfE $200
O $100[#EOf& $200
MHOFEH $1,000)1220= $200
FEOIE $1.100(HRO#E $200
MHOZ $1.200|2£ O $200
= O $500[Z£OFE $200
s Ot $1,200{#O4E $200
O $1.200[EOZK $200
EO# $1.200|8 O $200
EORE: $1,200|8EO& $200
BROAL $1.200[EEOFE $200
#®OHEE $1,200|BHOZ $200
FOMH $1,200|BHOHZ $200
EHOE $1,200|122 O $200
BO%E $1,200|1# O $200
PRO5A $1.200(#% 0O & $200
1 OFIL $1.200[#5 O $200
sTOZR $1,200|#5OH $200
=0% T $1,200|1 8 OF $200
FON $1,200[#EO i $200
RO $1.200{5:O%E $200
O $1,200| RO $200
RO $1.200{5OF $200
FOHBE $1,200 [ O $1,200
FROZE $1,200)BEO=L $200
BOFE $2,000) B Ok $200
AROFH $5,000[FR O 77 $200
BROKE $1,200{HO% $200
FO®E $500[ER OBk $200
B0 $1.200[z=0O1H $5,000
PROZE $100| =OH $600
TOE $100[FHOJI $2,000
FO4 $100) 8 Oty $1,100
sTOSEE $1.000[2£0%= $200
POPT 5 $1.200[FO % $200
AEORH $600|fH O %= $200
PROZ $1.200[5R OB $200
BROLL $1.200|1E O $200
BRO$ $100|FOFtig $600
BROZE $100[{af O $7,200
BO% $1.200[FEOfE $200
FROE $1,200|F O $200
RO $1,200| EO= $600
FHOK $1,000[FEO & $200
PROXE $1,000|E=O%E $600
HOM $600[FROZ $2,100
st O $1,200]BEO $5,000
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AO#E $1,20018 O $100
A OFE $5.000[7&OJ $600
O $1.000 (PR O A ki $1,200
POZE $1,200]|BR Ot $1,500
HOE $1,000|5E O $1,000
BROF $100[{TO4E $100
H OLL $1,200|&=O%E $200
O $100[7 Opk $200
BROEE $100[E= O $200
RO $100[2£O%k $600
O3 $100PTO X $1,000
PRORE $100[Ek O ¥ $200
RO $100[HOA%E $100
sTO% $100[ RO %l $100
BROZ $100[ Ok $200
sTOFE $100[fA O%k $200
sTO = $100[BAOE $650
sTOE $100[EEOE $650
£Z0% $300[EAOHR $700
FOEC $2,000{5 O $100
s O $1,500) &= Ol $1,000
WO $1,000{BROA $600
sTO4E $1,000)1220C $600
HOHE $600|FOFZ $10,000
O $100[FR OfE $21,200
TOF $100[FOF $6.,800
i OFk $1,200(5 O $3,200
AO58R $1.200{BBO % $100
O $1,200[FEO 7 $500
FO $1.200|fE O $600
5O $1,200|=OF $1,200
BHOF% $10,000) 7RO $5,000
O $1,200|%2 O~ $1,200
g OFd $1.200{Z1O%F $115
HE O $1,200|FOH $500
LO%E $1.200[Z£ O $500
RO $2,000| O $10,000
RO $2,000)2 OFL $100
FROZK $500[EO B $100
PO $600[= O] $100
FROL $300[=OE $100
PROZE $300[2OF $100
ZOREAE $10,000| M) & $20,000
BRO B $1,200) 5RO $1,800
§TOL $500| 2O HD $100
g Ok $600| ¥ $7,200
BORKL $500[BIOF $100
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HOFEE $1,200[FIOFEx $100
MO $1,000|12I1OJ= $100
EROKE $1,200|121O $100
MOLF $1,200|1210& $100
HO=E $1.200[FEOMF $100
HORE $2,000{ IO $100
=0O% T $100[F#O 1 $100
FOE $1.200FEO% $100
H OFE $1,200[FEO 7 (% i) $200.,000
RO $1,200{ =0 $100
O $2.400[5OF¥E= $400
#wO= $2,400) O $1,000
BOM $500[7LORkK $1,000
A Ot $1,000) B OBE $400
O $600[Z£O & $900
BROBL $5.000)7ROFE $800
BROZR $5,000) 5= O%k $600
PR Ok $10,000|F Ot $400
#TOX $1.200|1EO4F $400
RO $1,200| 5 OF $3,000
#FOLY $1.200[ROF $400
BO®&R $500[ O $400
FOIK $100[#F O $400
FEHIRE $1,000|FRO%& $400
PO $1,000|21OF $400
BHO $1,200{1O#% $400
BOHGED $40,000{21OF* $400
s O $1,000[FFOF $200
HOWH $1,200) 75 Ok $600
HOFE $1,200{#5O1& $100
BROME $500| £ O $500
FO75 $500[FEO 2= $2,000
BO# $1,200|#H OF $100
FEOm $500[ = O $100
O $1.20050 $1,000
FROHL $1,000[50 $1,000
1O $5.000[ EOF 1+ $200
21O $1.200|=0O%F $100
FOE $3,600[FROF $500
PO $1.200[=0OF $100
FEOH $3,600[ = OFfFE $100
BHO# $1.200[= O $100
=O¥ $3,000)E= 0O $100
= O $1.200[z=O# $100
LOH $1.200[21OFHe $100
#HOG $1,200)B O $100
2O $10,000] 5= OF]] $100
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PROXE $1,200)&=Off $100
BROZE $500[=O1E $100
BOZR $10,000[F= Ol $100
MO $300[5=OFt $600
BOST $2,000)| 2 OZ% $200
BROE $600[ & OB $250
BROFE 5 $600] & O $75
#HOBRE $10,000|E O $200
tROH $1.200[#EO= $100
tROBE $1,20018 O£k $75
RO $1,200( % OHEER $75
HROE $1,200)&=0OH1 $500
#HOH $1,200( % O $75
O $500[5 O $600
AROfE $10,000| 7O L $600
BOZHD $10,000| EOE $1,000
O $100| =05+ $500
#Ola $100[FEOHk $300
O $100[FEO= $500
2O $100F OFE $500
O $100|F O $300
£Z0OH $100[EOR $500
BRO $10,000|122 O $200
FOF $100[E= O $500
FROH $100| EOE $300
FROH $100| EOH5 $500
HOH $100[EOH $100
HOH $100| 5= ORELL $200
EHOM $100[5OFF $30,000
EHOM $100[BEOH $100
wOZ $100[ZrOH $100
wOZ $100[= Ol $100
s OFE $100[m= O $100
=OE $100|E= O $100
O] $100] &5 O Rl $100
EAO)E] $100[HOFE $100
BROH $1.200| £OE $200
BOZE $1.200[FBOE $100
MOEE $3.000|#H O $100
B $1.200[EHORAFE % $100
s OBk $500[## O $100
=10 $100[EOfS $300
BHO4E $1.200)| EOBERZ $100
BROME $1,200)| EO% $100
i O $1.000[FRO= $100
BROZH $1,200)| O $100
EOEE $1,200) &£ O8 $100
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fitt ORE $1,200)22ORESE $100
FOR $1.200[4£O% $100
FROET $20,000| = OAUIHE $100
TOHS $1.200FOE $100
FOFE $1.200|FO& $1,000
MO $1,200)#E O $500
s O $1,200{FE Ot $1,000
Ok $1.200 O $1,000
MO $1,200{ =06+ $300
EOR $10,000{FEO 5 $500
BOB&T $20,000{FEOFIE $10,000
BOB&T $45,700[BROZ $500
5RO $1.200(#50 & $12,000
EO% $2,000|18O% $1,000
ZO1 $200|fH O $1,000
FOE $1.000[FH O $1,000
FOHM $500[ZEO%F $1,200
=0 $1.000{#ROZ $1,000
BHORE $5.000[=0 $200
EOE $1,000)5E5 O $1,000
HOIEY $500[ AR O] $1,200
O $5.000) EOFEE $600
O $5.000[FFORd $1,200
OS2 $5.000) B O % $100
FOH $5,000[ FOE $100
£0% $500| O $100
O $1.000|BEOZ1H $500
FRORL $500[FR Ot $100
BEO% $1.000[FRO 5% $100
BRO1E $1.200|E=OF $5,000
BROIR &5 $315|fROLE $100
O $1,000[{TOFR $500
BRO% $500| =OH $600
TOFHE $200[F O $500
SO $500[ T O% $100
BROH $100| T O $100
ZOligg $100[ J O#F $100
BRO#% $100[ T OZFE $100
BRO3 $500[EO1H $100
FRO3 $500| T O= $100
HONE $500[ T O $100
RO $500[ T Ot $100
O $10,000{ 0% $100
HOE $1,000)8£O8 $250
TO=E $100[= O $100
BROFT $100[FO= $500
BOR $200/££0 $500
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@) $1,200)Z= O $500
PROHER $900|Z= O $500
EO= $200[HEOHT $500
BROZK $200[HEO= $500
GO H M $1,200)1Z=OFL $500
KROJEE#E $600[HEO#E $500
KOF $600|Z= Ok $500
RO $600|FO=E $500
g ORE $1,200)#O $500
A0 $1,200{ FO%i $250
HOtE $900|:#% O FE e $200
= OFRL $200[t5OFE $600
MO $200[2£O% $500
BOFE $200[ZFOHk $500
i OFE $200[ZEOR $500
H OBE $200[fR OF53E $300
BOE $200|# O $100
PO $200[#FOF $1.000
H O $200[#FOF $1.000
A Ot $200[BROF* $100
HOF $200[FH OXL $600
O ST $200[H O $1,000
H O $200[7= O $100
FOHE $1,000{BEOHE $100
FH O $600 | O $100
O $200| EOH $100
BRO fi $1,200) B O£ $100
FEOR $200[FROfZ $100
s O $2,000|5FO%% $100
O $1,000{PE O $100
BEOE $20,000|5F O $100
PMOTR $2,000|5F O e $100
ZIORL $1.000[FFOE $100
ZIOH $1,000[# O $200
BOFE $1.000[#HO8F= $900
s OFE $1,000)HOH $900
TOZF $640[EROFE $700
O HH $12,200|PROET $700
FEOFx $300[EOLE $700
PROE $200|FF O $700
= OFF $200[&£OZ $600
O $200[ EO& $100
= O $200| O $100
RO $200|HOFx $600
= Off $200[=O#h $100
AOTE $200|E=OH $100
s Ok $200[ 5= Ok $100
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= ORI $200| £OZE $300
BOE $200|E O $300
RO $5.000|#E O $500
(OLs $500[EFO= $100
RO $2001770 $100
TOE $1,0003 O $100
A OHk $300[#HOF $300
BOZEEFER $500[ETOH $1,200
BOEEFER $2,000|121O%E $300
O $500[FIOBZ $300
PROFE $500| SOl $3,200
thO= $1.000{5:OF $1,000
TOE $200|&£O EERIZ $800
BRO# $100|122OF $500
RO $2,000|EL O $100
O T $1,000|1ZOt& $100
HON $100|HFOZE $100
HON $200[E O $100
BROH $600[ERCO5 $100
ROR, $300[2£ O $100
EXOJE $1.000 [T O 5 $100
= O $500[&k OF% $1,200
£0E $500[BIOF $1.000
RO $1,000[5ROE $1,000
SORA $5.000) B O $500
FO# $500|ZR O i $300
HOE $500[ = O $500
HOF $500[#FO%2 $1,200
HOIT $500[F1O#h $1,200
H O $500[ZFO1 $200
RO $1,000|&£O1E $5,000
BROFE $100[=OfZ $2,000
PO $2,000[= Ol $2,000
ZOB $1,000|HOf= $50,000
#HOH $5,000TOZE $50,000
BOHE $5.000|#+O $1,000
MOH $79,000|Er O $300
RO $50[= OF $2,000
TOEM $1.500| EOREHL $2,000
AOH $1,200[yT O $500
HEOFE $1.200 TO KR $500
H SR hEE $6.000)F#H OJI $2,000
EMELEE $5.000FEOpE $600
SRR $800[= O $600
=0T $3,000)EO& $500
SEORF $100[t5OIH $500
PO $2,000) B Ottt $1,000
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H=OF $600[FEO B $300
HOTE $1,000) &= O $500
EOV/N $200| 5 O $500
g O $250[5R O $300
i O $250[HEOE® $1,200
O $200[5RO= $1,000
FHOME $300[z=20 $100
ZOF $1,000[FOEE $100
ROZE $600[BROET $300
RO $600| RO $500
=0O% T $500)ZO%z $1,000
BO% $2,000[ &£ O&X $200
BOH $500[FR OfZ $300
BOE $2,000[5FO#fbE $1,500
T OB $200[H Ok $2,000
EOR $500[FFOR $1,500
BROH $2,000|ZO=E $100
RO $600[E= O $100
RO $500[BROL $500
SO $1,000| 2O & $100
RO $50[21OZ> $100
MO $3.000| 52O $100
FO $300| 2 OFF $100
HO $3,000| = O#5 $100
£0 $500[ZIO%H $100
RO BAL $1,200) O $500
TOE $100[EEO & $30,000
TO%& $100[ & OB $100
FOE $1.200|BOE $100
OB $100|BEOIE $100
TOF $100[ ORI $100
[ OF $1,000{FEOF $150
BEO& $200|F O $250
s O $100[5TOF $200
=OH $100|FHO% $2,000
Ok $100[7RO¥ $300
O $10,000)5ROEF $300
sy S ik $6,000) O $1,000
BEO= $1,000) B O $500
HOT $100F O#k $500
O $100fH O $100
ORIk $1,000{% O $100
O $5.015|EHOFT $100
FORMH $800] &= O (D) $200
HOR $1,000{5#=0O $600
=0% T $100[E O $100
PR O Fir $2,000{ PO $100
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s O $100[E=OL $100
ZO®, $700(21OA $100
£05%8 $200[ 5= OKE $100
POHE $200[ EOHk $150
FEOM $300[FRO%E $150
£Z0OE $1,000)BE O $150
TO¥NH $500 R Oty $250
FO] $1,700);E O $500
BROF $200[ O TE $100
TOFE $200[EOL $100
FO% $1.000)4&2 O $100
RO $200[53O %) $100
sT O $100[ & Of $100
BROSL $1,000( % O $100
MO $2,00018 O£k $100
ROk $1.000[FEOZ% $100
AoV $1.200)B OF& $100
HESES $1,200) 5 O%#, $100
/b $1,200|ZF O $300
(2L $1.200| B O $300
TSR $1.200[FF O fif $100
R $1.200[FOfZ $100
B $1.200|180OF $100
SENHE $1.200|EHO%E $100
A $1,200|EHO$#, $100
TREETR $1,200]BEOFK $100
i (B8 $1.200|BEOZ $100
i T $1.200[FR OB $100
HEE $1,200|ZF O $100
R $1,200|BEO%H $100
TRAECY $1,200|BEOtG $100
BREZAN $1,200|BE O $100
MG $1,200)fOZ $100
Bk $1,200[FROE $100
e lid $1,200|BROfiEE $100
RIS $1,200|BRO4F $100
Lz $1.200 (PR Ot $200
5325 $1,200|5RO % $1,000
1 $1,200[5FORk $200
TR $1,200{#ROEE $200
[ oneEls $1,200|1210O% $100
TRIREE $1,200| RO $100
Fialh $1,200| PO $100
PR 5 $1,200[#O & $100
HO& $500|FEOF $100
HO® $1,000);E O $100
=HO® $8,000{5ROAE $200




MEEANSETRAIDFEHEENESE
VATFIHREE (TEEMR : BERFRE ARETL)

Bk ER it i L
EAOLEES $100[ZFO## $600
HOR $100| % Ot $1,000
BROIE $100[ 7 O3 $1,200
RO & $1,000[ O $2,000
fi OF $100]| EOELED $200
BROE $150PEOFE $600
FOE $500[t5 Ol $100
iTOTF $100[#5OF 7 $100
RO $300(ZOF5 $100
HOBH $1,000)5O $100
HOBH $3,000[ O] $100
ROSHE $500[[FHO¥E $2,000
SOt $300[fT O $300
RO $500[f1O3L $300
PR Ok $500[tT OE% $300
BROZR $100[FRO $300
EOTE $200[# OBk $300
g O $100[FRO & $300
sHOH $100[EAOFH $100
B O] (#0) $200[{a7 O $100
Z0Oid $8.000 48T O] $100
FOFFE $1,200|EF Oz $100
PROSE $1,200{FE O $500
H=O $600[ O $100
ZO&E $100| RO $600
HOFE $500[F 05 $5,000
HOE $6.000|F O $5.000
MO $100|ZF O $5,000
E=OX $100[HO= $100
BOH $1001 O $100,000
s O $100[EFO#h $100
HOF $1,000| 225425 A TR H] $500
TOHk $150| & R AR A - BEAT $600
BROZE $150| Kot =t mle (A PR N ] $500
BROZ $150| s Ot $1,000
RO $500[FROFk $50,000
FOE $1.200|1# O % $200
POFE $1,200[ M OFESR $600
HOZE $1,200| = O= $200
AEOFEH $500[EROZ $200
fiE OIE $100[5O# $500
fitt O>L $100[E=OME $500
LO= $100[=OF%Z $500
O $100[7R OB $500
GO $100[#FO4= $600
g O/ $100[#FOf& $600
2OZ $100[ =2 OFAL $200
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HEOZ $100[#O % $200
BRO®& $100[#OF= $200
s O $100[#H O $200
SO $300[#H OB $200
HOEE $300[#5 O $200
s Offi $100[#AO e $200
sTOfE $100[FHO#H $200
BOT $100[#FHOthH $200
EHOH $100[#H O $200
sHO Y $100#H O T $200
BROEX $100[#OE $200
RO $100| = O%% $200
BROBA $100|=O% $200
@) $100[FEO= $200
BRO% $100|f OFF $200
EROME $100[ = OFF $200
BROE $100| = O% $200
BROZ $100| = O $200
BROE $100[B1OF $200
PR O $100| = Off $200
BRO4F $100|AROAE $200
RO $500|E=OfkK $200
BRO#E $200[= OF] $200
RO%E $1,000[#5O%F $200
RO $1,000[ O BH % $2,000
ETORk $100|2 O%H $1,600
PROZE $100)BEEE $1,500
21Ot $100|FEEEE $1,000
BROZ $100| 2R $2,638
PO $100] F AT $2,638
AHEOE $100[ZF0O $600
FEORM $100[#O 5 $2,000
AEOH $100[BEOH $1,000
RO $1,200| EO#= $200
POsE $1.000[Z£OFk $200
POsE $8,000|{T O HHRZE $100
=OJR $100|E=O% $5,000
w=OME $100[ETOH $100
w O $100[ EOEE $500
O $100[# O $200
s O $100[5OHEHD $3.,000
BIOH# $100[ZF O $300
BROZ $100[= O] $400
s O $100[ EOFHs $500
w06 $100 R OF5 5t $500
=018 $100[/&EOP $100
ROZR $200[fAI O4= $150
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g Ot $1,000[#O7= $5,000
TOELED $400[# O $1,900
O $300[RO% $1,000
BOIlE $100[EOLL $1,000
BOM & $100| 275 1 $1,500
PO#HE $100[HOF $1,000
#HOF5 $100[=OF%z $100
O $100[#EOpkL $1,000
FOF(] $100[21OF5 $900
BROH $300[ kO $3,000
OB $300[EO B $100
BRO $300[EO B $100
sHOF $100[z=OF1 $100
O $100[=OE $100
fafOle] $100[2OF $100
PROEAEEHD $3.000/ O $1,000
HOZE $1,000{4 OO $1,900
HOE $500[EOHE $200
HOE $7,000)5%O=L $200
HOE $500[{H O $200
HOE $3,000{BEO i $200
5 OH $500| O $100
HOA! $3,500[ EO= $100
HOFE $500|E= O $1,000
HOFE $1,500|=0L0 $1,600
RO $1,000]BE O $1,000
ALO $3,000[ZIOF $100
LR e AR E] $500[fRO=E $100
e $2,500[FRO 5% $100
BHORE $8,797|&=OF $5,000
BEOR, $20,000{{TOF# $500
PROZE $6,000|122O= $700
E=OH $5,000{52 O $700
O $2,000[FIOZFEx $100
BO# $20,000| 21O $100
BROH4&l $1,200[ IO ) $100
A O $100|2IOJF $100
=OE $4,000|1 2108 $100
PROEJE $50,000[FE O $100
BOE $500[2N O $100
RO $10,000/#O2 $1,000
FOtT $1.200{ZF O $500
RO $5.000) T OZ% $100
= OF $10,000] T Oz $100
FHOXE $1,200] T O $100
=O#H $5,000{ TOE $100
BRO$ $1,200|ZOH $100
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BRO B $1,200| T O= $100
O $10,000] T OJE $100
HOFE $1.200 T O## $100
FO5 $1,200| =02 $100
w05 $100[HHOFE $100
BrOX $1,200) &£ O8 $250
g OE $1,200{ IOk $200
g O $1,200) &= OXtE $100
=OH $100[ O $1,200
FOF $100[F=O 1 $100
w OB $1.200FE=O% $100
SOfRED $5.000[2£Of# $1,250
2O $5.000]BEEORK $1,250
£Z0% $1,000)1220f& $1,250
fit Ot $600|12E O $1,250
RO $1,200{ £ OF; $250
RO $5,000(7% O 35 $200
ZIOIE $10,000|Z£O% $500
BROH] $1,000) 2= Ok $500
0O $200|22OK $500
O $200[fROF53E $300
MO $50,000| & O $100
B AR A RN E] $6.,000| & O¥tE $1,000
e e el YANG] $10,000{# O $200
LOSTE $10,000) 7= O%L $200
= O $1,200|5E O $1,000
HOHE $1.200[{EO= $100
MHOZ $1,000150 $200
BOH $1.200)3 O $100
s2OFE $1.200|1#k O $300
BROBT $300|EHOAR $500
ROz $10,000{#5O%F $200
BHOZAE $500[#B O $200
O $1,200|#8OLEE $200
PRORL $1,000{&£O7K $6,000
FRO®E $50.000|FOKA $200
B O $1.200{ZF O $1,000
=OEE $600 | B Oty $1,200
EOTE $600| ZHE=F $2,000
O $600[53OZ $1,000
RO $600[=O®F $1,000
= O% $600[= O $500
PROE $300| EOEE $2,000
Oy $600|EO % $20,000
s O, $600| 2 O $10,000
O $1.200|FO%E $1,000
EO% $1.200|#O% $3,000
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FROZ= $600|BEOTE $1,000
O $1,200) = O#HE $2,000
HOLC $1,200)BROAK $500
FOLE $1,200[EOEE $100
fLO $1,200) &= O $100
HOB $1.200[E O $100
HOH $1,200|E O $500
ZIOH $1,200[15O%E $200
HO¥ $1.200|18OkE $200
BIOHE $1.200|1O % $200
2O $1.200[FEO== $100
£0% $1.200{ EO*% $100
HOZE $1,200)| EO# $100
RO $1,200| O $100
O $1,200|F O $100
#®O% $1.200{ EO£E®HD $100
ER O $1,200[ O ) $100
HOH $1,200|= O $100
HFEOLUI $1.200[3EO%E $100
BIOE $1.200[3£0 $100
AEOTR $1,200|HO $100
PROXE $1.200[z=OFRd $100
MO $1,200|E=0OF $100
= O $1.200[z=OfF $100
TOTE $1,200) &= Ol $100
A Ol $600 52 O (#0) $100
PO $1,200[FH O#F4F $300
A OFg#(] $600[#5 O $2,000
A OZEE $600[FIOF $100
ROJRE $1.200{52 O#k $100
A O>L $600| E Ok $40,000
RO $1.200|fHOE $2,000
HO#&H $1,200) 52 OF $500
#OfE $600| (e BLEE AR/ E] $100,000
HO&% $1,200| E R B HE HH RN E $10,000
Z0 $1.200/HOF $1,000
O $600[fRO=E $100
FOR $1.200[ O $100
F O $600[# OMAED $10,000
E O $600[#OHERHD $10,000
TOBL $600[ 52Ok $100
T O $600[FEOH $100
TO= $600[7ROH $100
w=O% $600[7ROH $100
T O $600[= Ol $100
F O] $600[E= O $100
TOE $600[=OFE $100
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£ O $600[FROHE $500
BROH $1,200) 52 O& $100
O $1,200|%2O1= $100
HOFT $1,200) 52 O$#, $100
HORE $1.200{5:O>L $100
BHOR $1,200|EROZ= $100
BHOE $1.200[#HO $500
BHOR $1.200 (PR O#F $100
2O $1,200(Z=Oligg $100
HOF2 $1,200) B O$#, $100
ZOE $1,200| EO= $100
FR O $1.200[fROF5 $100
HOE $1.200[E£0 $250
HOR $1,200|{FHO% $250
SOk $1,200|{H O $250
O $1,200|{HOh $250
HOR $1,200[AEOF $200
O $1,200(## O 5 $1,200
RO $1,200{#E O 5 $10,000
RO H $1.000)5# O FAE $1,200
FOE $1.200(# O $1,200
g O== $1,200[BHOE $100
HOWE $1,200)BR Otz $100
BROZE $1.200| £OE $100
FHOT] $1,200|ZPO=HE $100
BOE $1,200|#H O $100
ROFEHE $1,200[EOEARS 5 $100
= OF $1,200)3FO4: $100
FO $1,200|FOF5 $100
£20) $1,200[4L O $100
FOEE $1,200|ZEO7% $100
#ROF $1,200)| EOBERZ $100
#ROMH $1.200{EO# $100
ROBEE $5,000[FFOF= $100
205 $10,000{EO $100
BOBE $10,000| & O $100
£Z0T $1.000)Z2ORESE $100
2IOFE $7,000)3O== $100
HOE $5.000[z= OAIAE $100
TOZ $5,000|1 £O7T $100
HOE $3,000[FO HE, $100
BO% $1,200{ F-OFAB $100
INNS= SR fG i $6,000| EOF $100
FON $200[ 5 O3L $100
TO& $500[7EO &L $100
BREE $3,000|12=O1= $200
FO1E $1.000|FO&E $1,000
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MO $300| £ O $500
=0O% T $500[BROHk $400
Ok $400[= O $1,000
BRO3 $500]F O $1,000
s O $1,200|ZF Ot $1,000
BROF $1,200)#E O $500
AEORF $1,000| &k O ERREZE $800
BIOH $2.400|22OF5 $500
HBOE $100|BEOtE $1,000
=(OLS $500[ZF O $300
RO $200[=O %+ $500
BO% $1,000[FEO & $500
=0% T $500| EOFEE $200
£0O% $200| =05+ $100
£0E $500[f OF= $500
RO $1,000[FROF $500
[ O4 $100|fH O $1,000
RO $50ZEORE $400
POK $400|FHOfF $1,000
HOZ $400[=OHE $1,000
FOZ $400| & O $50
MO $400[Z O $50
PO $400| 52 O $200
Z0E $10,000|F OF* $200
200t $10,000[BEO -2 $1,200
ZOE $10,000[#EOE $100
BOM $3,000|8 OF $50
£0= $3,000) 8 OHEER $50
£0% $2,000)E= 0O $500
O $1,200)% O $50
220 $1,100| £ OFE $1,000
Ok $1,100[FR O $300
AEOZER $10,000|B O& $500
HOEZ $10,000[EOR $500
ROEH $3,000]BR Ot $1,500
MO $25,000| O $100
HOH $25,000|F OB $1,000
PORE $100 [ O $500
=50 $1.000[ZFOH $500
s O $300[FEOE $300
=OE $2,000{52 O $100
s O $2,000| EO=E $300
HOEE $10,000[#ROZ $1,000
O $2,000[ZEO4i $500
et OIBUE $1.200{EOH $100
H O $1,200) =08 $500
TORERD $2,000) B Ot $500
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O $600[{HO#2 $200
HOJI $2,000[Z£ O $500
BIOZR $200[FIOH $100
=O%E $200[RO% $1,000
PO $3,000) = OF $1,000
A OHk $300[HEO &L $100
BROF5 5 $500[HEO%x $100
TOE $200[ERORE $10,000
ZO% $5.000[2£0 $1,000
FOE $1.000| O $1,000
EOAE $1,000) &= O $500
O $1,000| EO L $2,000
Ok $1,000|E O $150
HOZ $1.000{ECO $150
o2 $1,000|ZFO 5 $200
BEOR, $20,000{tO & $500
F ORIk $20,000) s O $200
HOE $10,000|3F O $100
=0T $1,000) 8 O== $300
= Ok $1,000{ FOFE $100
BORE $1.000(#RO5 $1,000
BO% $100[H O $200
BO% $100[FEO4E $1,000
BO#H $100[FROf $1,200
BO#H $100| =05+ $200
BO#H $100[FOFE $600
BO#H $100[FI O $600
0O $100[ZFOZK $600
£Z0Om $100[21OZ> $600
BROM % $1,000)2F O $600
sFOKA $1,200|F O $600
RO T $2.000[2£O % $200
&5 —EEESEEARAE $2,000[# O $200
B Ol $1.200{ZIOF $1,000
BOH®& $1,200|2 O $1,000
JLF5F $500,000| O $500
st OMR $10,000| 2R O%L $300
it O% $1,200)&£O/K $5.000
sTOE $1.200[FROA= $10,015
sTOfH $1.200[FROA= $10,015
SZOfk $10,000) B O3 $300
O $2,000|=0OF $1,000
2OH $1,000)E 0O $1,000
sTORd $1,000|5EOE $100
RO $200[FIO% $100
TO#HE $900[FI Oz $100
BRO3 $1,200[F1OF $100
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RO $1.200[F1O% $100
RO $1.200| Bl T ey $1,000
TO&E $300[7ROH $1,200
HOM $100[FEOZ& $2,000
#Ola $100[5OFHE $1,200
O $100[5R O $1,200
HOL $100[5=OfE $1,200
O $100|5=OH $1,200
£Z0OH $100| 52O $800
RO $100| EO# $10,000
Z Ol $100pTOZ $20,000
RO $100PTOZ $10,000
s OBk $500[7 O $2,000
FOH $100[FEOEEHD $50,000
£ZOH $300 O $500
TOH $900[HO=E $300
RO $1,200) 8 OBHF $100
HROE $1.200|8OF $100
+O=E $100|BEOIE $100
BROFT $100(% OF $100
B O $1,200| O $400
FO= $500| EOH $200
£0 $600 R OF $150
ZO% $600|F O $250
ZO% $600[ETOTF $200
FOM $600[7ROF $300
HOE $600[5=OEH $300
Z O $600[ 52Ot $300
FHOE $600[FROFE $500
ZOf% $600 | FF O %k $500
HOZE $600|f O $100
HO $600[ O $100
fOVK $1,400{EHOH $100
BOE $300] 52 OJH](#D) $200
=10 $100[HORE $6.,668
BROM, $1,200|#H OF $100
PROT $1.200[z=0O% $100
=50 $1,200|## O &k $1,000
B $1,200|ZO& $100
HOR $1,200)5ROF& $200
H O $300[5ROH#E $300
EXOE $1,200|5#0 $200
BHOMESE $300[#E Ot $100
O $300[E=OL $100
HOE $500(21OA $100
RO $500[E= OKE $100
HORE $500[ EOHK $150
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HOIR $500[FRO%E $150
#O $1,200| B O $150
FROEY $200 | Ot $250
#®O2 $900[HO=2 $500
FOZ $400[HEOIE $100
FOZ $800[EOL $100
=O% $10,000|14CO= $100
w= O $10,000|68CO &) $100
ZO1= $200[ & O $100
HO& $600[ 4 O&L $100
BEOE $12,000|1 8 O=% $100
BROJE $500[H=O%% $100
BROJE $500[FROF $100
£0# $500[=O#h $100
FROAL $600|EF Ot $300
=0% T $500|H O $300
EOR $500[ET O $100
F O $100[ETOfE $100
HON $100[tO+F- $100
g O $1,000|EHOE $100
FO# $500[FAO #h $100
HOZE $5.000] B OFK $100
HOH $1.600|EEOZ $100
[ Ofa $500/F O $100
#O H 3% $3,000|EE O $100
O $20,000) B O%H $100
REGE TR $1,000|EEOtG $100
HOZHE $1,000,000{FEOF $100
BRO $10,000|f OZ $100
BHOE $20,000[BROE $100
BROZE $100|fF OHiee $100
BROZE $100[BROLY $100
s O $1,200| 52O $500
BEOE $1,200(BRO & $200
RO $100|7=O%E $1,000
RO $100|5E=O= $1,000
RO $1,000[5FORk $200
BROAK $100[#F Ok $200
BROE: $100[FIOf% $100
BROE: $100[BROZ $100
BEOMH $1,200| PO $100
HOE $100[EOHE $100
=OFE $100|EO%x $1,000
EO& $100HO & $100
FO% $100|FEOF $100
BO%E $100[H:OH $100
H OHE $5.000)Z O $100
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BORE $100[FOfa $100
BO= $100|HFOZE $100
HEOE $100|FFO1= $100
FO% $100[ERO5 $100
OB $100|Z2OH $100
T O $100ta O $100
ZOR, $100[E= O $100
HOIE $1,200|5ROA§ $200
AEO58 $1.200[5O= $100
O $1,200( % Ot $1,000
H#HOH, $1,200|122O%E $100
AE O $1,200)3H OFE $200
TOEEHD $100| EO&ELED $200
MOE D $100| =05+ $100
O $100[#5 Ot $100
HOE $100[#5OP & $100
AHO $100|FOF5 $100
O $100[5O $100
s O $100[ZBOF( $100
w=OH $100[{TO4E $150
wOfE $100[EAOFH $100
s O $100[{T O $100
OB $100|{TOlH] $100
MOE $1,000|FO% $500
PROT $100|EFCOEE $100
PROT $100[FECOH $500
£Z0% $1.200|1EO%E $100
O $100[/FO15 $100
O $100| ZesRaR e A IR E] $500
PRO®E: $100|#H OPz $1,200
PRO®E: $100[FHO&Z $1,200
RO $100[ Ok $1,200
BROBE $100[#HOFF $1,200
O3 $100[FHOH $1,200
T O $100[FHOFH $1,200
BRORE $100/E O $1,200
PRORE $100[ZEO% $500
RO $100[ZFOHk $500
RO $100[ZEORK $500
T Oi% $100| < BHE $10,000
s O $100[7ROA 44 $1,200
BROZ $100[#FO= $500
PROE $100|PROHE $2,000
sTOFE $100[t5O%E $500
sTOFE $100[LOE $500
sTO = $100[B1OF5 $700
sTO = $100[#O 5 $2,000
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sTOZE $100[ZFOf $2,000
sTOZE $100[FO#h $500
20 $100[FO%, $500
wOHk $100| EOH $2,000
POk $100[#£O $1,000
HOTE $3.000[t50O & $12,000
HOAED) $3,000|E=OJF $100
O, $4.000[=OFFF $100
HOE $50,000[F= O $100
RO $1,200|=0O1= $100
FOZE $300[E=O% $100
BEOjw $300[F O $100
#rOAE $5.000)B O $100
FZO=E $1,000) 5= OF $100
BROHL $300[=OM $100
@RS $2,000)E=O1g $100
HEONE $1,000{£ O $10,000
HROF $20,000{2£Of# $1,250
BO% $1,000)BEORK $1,250
MO $100[Z£OE& $1,250
FORE $100[Z£OF $1,250
£0% $500| =05+ $500
O $1,000| O $200
w ORI $1,020|{TOHHRTZE $100
FROZL $200[5R OF% $200
BROTE $1.000[FF O $100
=ORK $500| O $1,000
=0% T $500) 2O $100
BRO% $500[m= O $100
=0% T $100[BROSL $500
BROZ $500[E O $1,000
£0% $300)/hNO $250
O $300[fOF $250
FOZ $1,000|=0O & $100
HOZE $1,200)iF O%E $100
O $100[BO%x $200
BOM $1,000)5FOFK $5,000
HOH $300| WP E G $100.,000
BEOE $10,000)| EOFEE: $900
EOE $20,000) s O % $100
£Z0OE $100[FRO%E $100
PROZR $2,000[ FOE $100
#2014 $1,250[FO4 $100
ROk $1,250|= 0O+ $3,000
201 $1,250[#EOF $1,200
ZOHE $1,250|= O $1,200
BIORL $1.000]B O $500
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ZIOH $1,000[2202 $500
2OFH= $1.000|2£ Otk $500
PROZE $1.200|FROF# $100
2OF $1,000|FROF $100
= (O% $500| RO $100
PO $500|BRO=Z $100
FO1E $1,000{ FEOH $900
PR O i 3 $1.200[FEO= $200
BOEER $50012£0 $100
BOEER $2,000|120O5% $100
W ORE $500[Z£ 0% $100
BEOTE $500[ O $100
RO $1,0000#O= $100
O $1,200{FO%¢ $100
(@) $1,200[3EOFF $100
BHEOM $1,200{% O $100
O $2,000[#£O % $100
ROE, $300[£O $100
1BOIE $500[EO= $3,000
BOWE $500| RO $2,000
B0 $500|t5O 28 $300
s OH5E $100[EO{= $600
BO# $100| FO% $600
EOE $100|#kOE $1,000
HORE $220)| R O F5 $500
EOX $200|1 21O $300
HO= $200[FFROF $100
HO%E $200|FROF* $100
pi OF] $500|5= O $100
OB $500[Fx O $100
RO $50|BROHE $100
FHOH $500|BRO£E $100
FOF $500|BRO M $100
FO%E $300|BRO M $100
#E O $500| FOHE $100
PO $300| FOHE $100
Totsr $200,000|BHOfE $100
% =: $700,000|BHOfE $100
O3 $100[FROZ $100
FO M $100[FROZ $100
SOt $200|EFO%4 $100
FOE) $200[FF Ok $100
TOu $200|BHRO# $100
BHOFE $200) RO $100
ExOFEHD $1.200EF O $100
RO, $1.200[FFO%E $100
Ex Ol $1,200[F O, $100
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£05 $1,200)5F O e $100
EXO $1.200[FOE $100
BOrE $10,000[FFOE $100
BOE $1,000(# OF $500
BROE $500 | i O] $500
=HOHE $500[#t O $500
o2 $2,000[FOH $500
BO# $20,000{ F=O& $100
BROZE $1,000{FO%= $100
BOE $1,000| & O$#, $100
E O] $300[z=OH $100
MO $300[5= Ok $100
7O $300|BEOFE $300
BIOH $300[=O®E $2,000
=OE $300|E=O%E $3,000
BOF $2,0001#OH $1,200
FOH $300[FIO& $1,200
BROZE $10,000[ZIOF $100
=0+ $2,000{FROF $200
BIOF $100[BR O $200
BIOFEH $100[7EOM $200
RO $100[;&EOTT $200
BIOEED $100[=O%HE $200
B0k $100[{E=OFE $200
BIOE $100[FE O $200
FEOM $100|MEOEAE $200
RO $100|FOEE $1,200
w=OR $100[BROFE $200
w=OME $100[;EO T3 $200
s O $100[ETFOHrk $1,200
=0 $100[FHOE $1,000
s O% $100[FOEL $200
RO $100[ZFOE. $200
FROZ= $100[ RO $200
s O $100[2£O% $200
s OfE $100[#FOF $200
=018 $100[#E Ot $200
FO $100[#FO17 $200
FEO $100[f7O H $200
#FO $50,000[ O (& $200
BHOE R $1.200|1#Ot& $200
#O $1,000)1220= $200
FEOH# $200[HO%% $200
POEE $9.000|2£ Ok $200
FORMH $800[Z£OFE $200
TOFHHE $200[3O4= $200
PO $2,000)# O $200
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FEOM $300|EECO $200
TO¥MH $500[E O $200
O $250[EOFEE $200
i O $250[BEOE $200
£0% $500[EEOFZ $200
RO $50[Z£ O $200
RO $50[# OB $200
EOME $250[#O T $200
T OBk $300[# O $200
#®OF $500[t5 O $200
#®OF $500[#OF $200
O $500 5 O $200
FOE $500|2O%E $200
#RO4i $500[fR O $200
mRORE $1,000[2OF $200
AEOE $500[2IO 2Tk $100
BHOH $600[FIO &= $100
AEOE $300| 2O HD $100
EAOLEES $100|2IOJF $100
ZOR $100[F1OE $100
PROIE $100|FEO# $100
fite OF $100[B[ O $100
MHOE $1,200)BEO=L $200
TOZEZE $400 | R Ok $200
BROE $150[FROF5 $200
£01d $300[HO%% $200
fTOTF $100[ER OBk $200
RO $300[F=OH1 $100
ROSHE $300[F=O $100
2Ot $300[E=O#: $1,200
RO $500[2£O= $200
BROME $500[EBOZE $200
BROZR $100[fR O %= $200
g O $100[5R OB $200
sHOH $100[#F O $200
B O] (#0) $200|EEOH $400
OBk R $1,200)FE O $200
HOHE $100[FOE $200
RO® $200[FR O $200
RO#E $300[=O8E $1,200
H=O $200[KOH $1,000
ROEE $200|E= O $200
POt $100[ Opk $200
=OX $100|E= O $200
BIOH $100[ Ok $200
s O $100[fA O%k $200
HOF $1,000]ZF O $1,200
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£0O% $1,20058OHEE $10,000
ZOFME $1,200)f OB ER $10,000
EZOl] $1.200|E= O $1,200
BOF $100|E=O%K $1,200
SEOmEL $1,200|&F O ¥t $100
PO $1,200|&£OIlIF $3,600
BROME $300[ O $1,200
BRORL $300[# O $1,200
TOHk $150[5ROH: $1.200
BROZE $150|# O $1,200
BROZ $150[MOF $1,200
BROFH $300| O $1,200
BROE $300[#£0O $1,200
O $300| 21O $1,200
OB $300[HOZk $1,200
AEOFEH $500[BEOH $100
fiE OTE $100[7xOH $100
fitt O>L $100[F= Ol $100
LO= $100[m= O $100
O $100[=OFE $100
g O $100[= Ot $100
g O/ $100[EROFK $1,200
2OZ $100[#O $500
HEOZ $100|FEO#: $10,000
PROZ $100|EO#: $20,000
e O $100[EOFE $1,000
SO $300[7ROHk $2,000
HOEE $300[#FOE) $10,000
s Offi $100[#FOE) $28,700
sTOf2 $100[#FOE) $40.800
BOT $100[t5O%% $300
EHOH $100[t5OFH $300
sHO $100[t5OFH $300
BROEK $100|2£ Ok $300
BROE $100[ARO $10,000
BRO B $100|Z2OHZL $200
@) $100|1220 75 $200
BROH $100[#5 O $2,000
BROME $100[ZFOTT $1,000
BROE $100[EOFE $1,000
BROZ $100[#FOFR $100
BROE $100[FI Oty $100
BROHH $100[#O $100
BROLT $100|#RO % $100
RO $500[HOF $100
BRO#E $200[#EOW $100
FIRG)DY $100[Z O $100
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PMOTR $100[t5O— $100
2IO& $100[FOFH $500
BROZ $100|7E=OE $500
MO $100[EFOF- $500
TOH $200 5 F 4w 2 EEE (510 $200
AHEOE $100| (e BLEE AR/ E] $100,000
FEORM $100[BROHK $300
AEOH $100[FH O $100
ROFE $100[m= O $100
RO $100|=0O $1,000
HROZE $100| FOFEE $1,200
HROEF $100[2£0 $1,200
=0 $100[5OF $1,200
BOE $100|#AORE $5,000
BEOE $100[EOHE $200
=OH $100[fROF= $500
RO¥ $100[E= O $100
BROlIEE $10,000[#EOF $100
RO $1,000)E=0OH1 $500
BIOFEH $100[EOR $500
B0k $100[ZF O $500
BIOEED $100|Z2OREER $200
21O $100[ O $500
ZIOE $100[EOH $100
FOM $100|HOF $3.000
21058 $100|BHO % $300
ROZR $200[BEO Z g $300
B Ol $1,200)3 Ot $10,000
=0 $1,200(Br >R S E T AR e {771 $500
FO¥E $300 | OF $2,000
TOR $300| 5~ O $800
LOBK $300[EOE $1,000
BROBRR $300[52 O $100
RO $600[52 Ot $100
FO# $300[5O3L $100
HO4F $300[EXR O $100
FO $100[5=OTE $500
FO& $100|ZFOF55 52,880
g Ol $1,000| EO &% $30,000
#HEOPE $200| O $20,000
ZFOfR $250| E O $500
E2AOLN $250[m= Of $2,000
BEOTE $250|= 0O $2,000
FOM $250[ = OF% $100
KO $300|#RONEH $10,000
BROAL $300|&£O EEREIZ $800
FOELED $200[FRO 5 $500
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TOE $6,000[=O= $2,000
PO $1,200| =05 $300
PR O’ $1.200[RO & $1,200
Ol $100|AOFH $1,200
BOM & $100[ROfE $1,200
205 $500[Ek O $1,200
MO $1.200[/ROFF $1,200
O $200{ = OREHS $2,000
MOE $200[FHOJI $2,000
PO $100|E=OFF $1,900
B O $300[=OH $100
#HOT5 $100[=OHE $100
O $100[2OF $100
O] $100[fEOFE $500
LOR $300| O $100
TOR $300[ F=O=E $100
ROM: $300[FEOE $300
BROX $300[ZFOHE $3,000
sHOF $100[ZIOH $100
BIOF $300[F O $10,000
BIO%E $300[FO% $6,000
BIOF $300[HkOFF $2,500
O $100[HkOFEREIZ $2,500
fafOle] $100[21OH $100
BIO% $200[ B[ O%F $100
LOfE $1,000{21O 3 $100
SO $200[F1O% $100
HOE $100[#EO4 $100
SOW $1.200[HEO 2 $100
tROH $100 38 OFx $100
S Ot $1.200|ZOE $200
FOME $100,000]| 21Ok $100
ZRRes AR E] $500|EO# $530
E AR E $2.400)5ROFHE $1,200
AEBGREE $1.200=0O& $1,000
I OMR $500[)LOETE $10,000
=OB $200[ O $1,200
FOE $500[t% O} $200
e OFfE $100|2IOF5EE $1,200
=HOHE $500[ OB $500
BO R $200[#F O $1,000
BROR $300[ETOF $1,200
FOHE $300[# OF i $20,000
PROE $300|2EO%) $50,000
O $500|E=O% $1,200
£ZO% $500[7ROZ $500
FOuk $500[E O $2,000
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£ZOK $500[ kO $200
PROFE $300|E=O#I & $600
H OWEE $100| EOFE $600
=HOH $500[t7 O & $600
Ok $500|BRO & $600
i O $1.000) = O%g $600
MO $200[ &= O%J $10,000
EOH $10,000 B OFt (50 $5,000
SO $10,000| B O$2 $1,200
=OM $10,000[BROATE R $10,000
SO $10,000/#O2 $1,000
EHO7% $10,000|5EOFE $200
B ik $10,000|Z£O 7 $200
ZOW $3.000[Z£ OB $200
#HORE $3,000| O $200
O $115[sEOF% $200
A Of $500[EEO%% $200
=OB $200 i O] $200
FOBE $500 i O $200
FRORL $250[#OF= $200
= O $100|Z0O= $200
O $500[ 5 OFEH $1,200
T O $250[EO1H $100
RO T $200|fH O $1,000
BROR $300|1MOZKA $300
HOH $300[FO5 $10,000
RO $300[{LO5 $600
B Of $500[=OE $600
£0% $500[FROE $600
FOuk $500| O $2,000
ZONR $500|E= O $1,200
FROFE $300[BRO & $1,200
i O $100|&LOF $1,200
HOH $500|2£ O $1,200
Ok $500[fR O $1,200
i O $1,000|HO $600
PO $200)| £ OFE $1,000
RO $1,000[Z£2O0O% $1,000
#O $100| O $1,200
OS5k $10,000[ZO $1,200
MHOEAE $200[ZF O $1,200
BROTE $200|F O $600
FOEL $200 38 O%k $600
ZOR, $200[ZFOl% $600
PO $200[FO= $1,200
£ 0% $200[ZF O, $1,200
HOE $200[ = O $600
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PO $200[HOF* $600
PHOLT $200[#OFH $600
fOH $200[t5O% $600
MOE $200| AR Ot $600
HOtE $200[Z£O%#E $200
Z0OE $200|F# O $100
MO $200[#FOF $5.000
£0% $200[ 2 Ok $600
£0OWE $200|fs O $400
O $200[ZIOH $200
HOZK $200[FOFH. $100
BEOH $200[7k O $100
EOME $200{ Ok $3,600
BEOZEE $200[FEO%k $1,000
BHOZE $200[/H O $600
BHORZ $200[HEO $50,000
£ZOH $300[HEOLT $100
BEOW $300[FHOF5 $3.500
BHOE $300| EOB $5.000
BOH $300 [ fifi OF5 $1,200
BOH $300| (e BLEE AR/ E] $100,000
BO#H $300 [ EEESGETE—[E] $15,000
FEO i $300[EBOFE T $30,000
FOE $200[F O $20,000
BROME $200|ZOFb $600
FOF $200[#£O $600
BROL $200[ = O] 22 $10,000
BROHL $200[FR O $10,000
BROFT $200[2[ O & $600
MO $200|%2OH $600
£Z0O= $200[/H OBk $600
MO $200[ROFEE $600
EHOH $600| 7 O $600
FEOfE $200|Z£OEE $2,000
FOi $200|# OZAH $3.000
B O $1,000|# Ot $10,000
BO®E $5.000| O $1,000
EOES $500| sk OF $1,500
HOFE $500[F O $5.000
MHO% $1,000)#k Ok $10,000
BEOZ $60,000| BRI B ZERE T A TR/ E] $55,768
BEOTE $10,000] T O $2,000
RO $10,000) T OfmG&EE) $2,000
BEO $2,000] T O%& $2,000
#HOX $4,000{ T O=¥ $2,000
EO.L $10,000| T OfF $2,000
RO $5.000]#H OFE $200
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O $5,000[ O $10,000
FAO%E $300| kO $1,000
#HOE $1,500|EO& $6,000
EOZ $300[ZF Ok $100
5RO $300|FELEE Y $200
JEOIX $5.,000| tHH#EE F R (A PR/ 5] $200
ZOE $10,000| jii EHES $5,031
BO%E $1.200|1 & 3= $5,000
EROFRE $1,200|2 O $200
it O $600|FO=E $1,000
BOFS $1,200[ ROt $1,000
2NOEXL $1,20012807F5 $500
O $600|[EOTE $600
O $200|=0%F $500
PR O $200| EOF1E $200
EOW $200[FROFE $1,500
EOTT $200[Z2O5H $1,500
21OF] $1,200[Z2O4F $1,500
RO $1,200[2207% $1,500
FOus $1,200(Z20 #11 $1,500
EOR $1,200(Z20 $1,500
EOZ $1,200Z2O 575 $1,500
& $1,200(ZEO %% $1,500
=0 $200(pEO $500
O $200[5O & $12,700
ROFEMH $1,200|2£0 %4 $100
= O $200| 52 O $200
O $1,200( 8 O3t $50
TROFE $1,200[% Of% $50
O $1,200[#O%E $200
BOE $1,200(2I0O% $1,000
= O $1,200[3 O $50
PROSFE $700( 8 OHEER $50
BOF% $600| & O $50
B ORF $1,200[#5O %% $10,000
#O% $1,200[2 0% $1,000
HOTT $200( PR Ot $1,200
21Ok $1.200| RO $300
21O $1,200 [ O $1,000
BRO H $1,200[Fk O£ b5 $1,000
PR OB $200[F2 O] $300
TO% $700| £OHE $300
TOR $700[fROZ $1,000
TO#E $700[Z2OF¢ $300
TO=E $700[#50O & $1,015
EO $700[FHOF5 $5,000
TO0= $700[FROF $5,000
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TORE $700[PROZE $1,000
T O## $700| 21Ok (D $60,000
TO¥ $700[ RO $10,000
O $1,200{ % OF $2,000
202 $1.200( 84 O Ff $2,000
ZO% $1,200( % Ot $2,000
HOERE $1,200(% OFE $2,000
FOFE $600[ 4 OF $2,000
FO= $600| & O%k $1,000
FROE $200 &k O[] $500
=OHE $100)4EOLK $60
=OE $100|HEOF $1,000
=0T $100|BROZ $1,000
s OR] $100PTOME $20,000
FO% $600[## O $300
RKOH $2,000[F1Os% $1,200
=OE $200| HOH $1,200
FIORE $200[EB O $100
O $200[F O 15 $100
BEOR $600|HFOZE $100
=OH $400[E O $100
TORE $600[ER O $100
FROH $100|2£ O $100
FOFEAG $10,000 e[ O $100
PROZE $100[#H O1& $10,000
s OIF $100[HO & $10,000
HOAZE $100[H Ok $2,000
RO $100[EOLL $3,000
E O $1,200|#EO% $1,000
HOE $1.200(#ROBK $1,000
g OBk $400[= O $100
] Ok $200| 5= O $100
O $10,000[F= O $100
HEORT $10,000|=0O1= $100
sHOH $500[E= O% $100
TOEE $2,000) 21Ot $100
=0T $5.000) B O $100
sHONE $500[=OFH $100
w=0OfE $2,000)E=Off $100
=0 $2,000|=0O1E $100
HOXESE $6.000[z=O & $100
SEORF $100[BBOE $1,000
RO $1,000) B O % $100
FRORL $300[FRO#t $100
HEOZ $1.200[FR O $100
ZIO1E $1.200|1# O % $200
it OF5 $1,200[FROK $400
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FROIH $1,200[#OF $200
BIOF $1.200[FH O $200
2O $1.200[FHOBE $200
O $2,000|# O $200
MHO& $600[ O $200
T O $200[FH OFH $200
TO& $200[#FH Oth $200
O $1.200[FHOF= $200
TORERD $2,000) & OFLFT $200
PROZR $1,200(H O $200
BROME $1.200|=O# $200
PROFR $1,200|FE O $200
w= Ol $400[EEOL $1,200
HOJI $2,000) B OFF $100
EOEE $600[ =2 OFF $1,100
ZOH $600| = O% $500
PROAL $600| = O $100
O $500| AR OFE $200
BROAE $500[E= OBk $200
s O $500[ = Ol $200
= O $500[tzOF $200
OB $500[FROF $100
RO $200[7= O $100
£Z0% $1,000{BEOHE $100
FROM $1,200| PR O $100
ZOH $600| £ O $100
FO# $300[f Oz $100
HO4 $500[FROfZ $100
HOE $500[EFOi% $150
MO $500F O $150
HEOR $500[5F O $200
MO % $500| O $10,000
HO% $500| fEMA R (B~ $2,000
O $500[&k OFE $5.000
FOR $400[BROHk $300
ROk $200[HOR $1,000
FOM $100[7&O $300
=0 $100[FROF $100
ROH $100[=OF $5.000
FOHE $50[#FO $1,000
FO## $50)Z2 0%z $1,000
BOT $5.000[Ex O%L $200
s O $1,000[{TOFR $500
fIO5 $500[BROHF $300
BO=E $1,000{Z 0% $300
HO&H $100[FRO#h $300
PEHEARNE $40,000|z=O4 $2,000
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O $20,000|#HOE $100
BOH ) $1.000[EOE $100
g O $1,200|=OA1E $300
BOE $300|2 O3 $300
BOIE $300[= O] $400
BO% $1.200{ZF O $500
BOBE $300[ EO= $200
§TO T $1,200[FROF7 $200
FHOHR $1.200{ T O% $100
2O $1,200{ T Of= $100
RO $1,200] T O $100
BHOZ $1,200| T O£ $100
MOREHE $1,200)| O $100
sOREE $1.200{ TO= $100
A Ot $1,200) T OFE $100
FOfg $1,200) T O$# $100
BROTE $1.200{ 0¥ $100
PROZESE $1,200|12205 $200
BO®& $1,200[# O $200
w O $1,200{21OF5 $600
MHO= $200[ O $2,000
O $5.015|8rO8 $250
FIOK $200|F O $100
BOZEEFER $500[FH O $100
BOEEFER $2,000) = O%tE $100
FO% $1,000) EOFZ kst $500
HOE $600| £ O $250
RO $50[7% O 7t $200
sHOTH $100[ZEOFF $200
sHOZE $100|1 =0+ $500
sHORH $100[EROF53E $300
BRO&H $100|#H O $100
sHORS $100[fO’a $500
ZIOTE $600[#O7E $200
BIOHH $600[ETOH $100
FOK $600| O $1,000
B0 $600[{TOE $150
ZFOHiy $600 [ OEARIZ $100
FOE $600[#F O $100
mOE $300[EOfS $300
FROF $1,200| EOEEEZ $100
RO $500| EOF $100
O $500[f OF= $100
s O $500[ EOLL $100
ROE $500[fr OB $100
= OfA $2.400|122ORESE $100
HORF $9.600) 3Oz $100
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FORKH $40,000[580 $1,000
BRO $20,000[EFO= $100
st OJR $1,200] 8 Ok $100
AHO $1.200[z= OAIAE $100
F O $1.200[750 $200
BEOX $1,200)3 O $100
HOF $1.200|1#k O $300
B OR $200[# 0O~ $200
HOT $100[#B O $200
O $100[#BOHE $200
A O $100| EOTT $100
AEONE $500| O HE $100
HOHE $200| EOAB $100
=0 $500| EO= $100
s O $100[5O3L $100
RO $200[7EO &L $100
2O $200[ PO $1,200
£ZOH $200[t5OF $1,200
FOZE $200[#OF $1,200
FOH $200E O $1,900
HOFE $200|E1OF $1,200
BHO%% $200| < BHE $10,000
A OFFI $200[E8OF5 $10,000
OB $200[F O $5,000
BOFE $200[E O $5,000
0= $200|FOff $500
O $100[ZFOH1 $500
HOR $200[ 5 O1E $500
w05 $100[ZFOFk $500
s O3 $1,200[f O $300
OB $1,000)f5 O=L $300
B OPEED) $2,400 [t Ok $300
HEOEE $2.400) B O $300
LOBE $1,200[#ORk $300
RO $1,200[FR O #: $300
=OE $1.200[H O $500
w=OH $100[ & OB $100
FOF $100[EOE $100
£0O% $200[FRO1E $100
BEOE $600[FEEOZ $1,200
OB $600[ ORI $100
B O $600 | OF $150
I O4 $100|ZF O $750
FEOR $300[ETOF $200
O $10,000|5O* $300
FROZ= $10,000)5ROEF $300
2IOH $3,000) 52 Ot $300




MEEANSETRAIDFEHEENESE
VATFIHREE (TEEMR : BERFRE ARETL)

Bk ER BIAK B
O $2,000) B O 7 $500
O $900 | O %k $500
POZE $500[FROZE $100
Z2OREER $500| O $1,200
BROLL $150[ O $100
BROPS $150[EHOH $100
O $200[= OJH ({H#0) $200
MO $1,000|EO& $100
BROZE $500[#E Ot $100
BROZE $500[F=OL $100
LOHE $300[FIOF $100
MROEN| $300|E=ORE $100
O $250[ EOHk $150
GO $50 B O %2 $150
gO& $50[fROZ $150
BIOZR $1,700|BR Ot $750
O $200[O=F=s2 $500
2OZ $50[HEOTE $100
g OHEER $50[HEO L $100
+O&F $1,200|4C O= $100
RO $3,000{50O%h $100
(OLs $500[ & O $100
g OB $50/ 8 OfK $100
HOFEL $300[ 2 OF $100
BROH $2,000)FEO%% $100
= O $500[FROF $100
PO $100[=O#h $100
=0 $100[EB O $300
RO $50|H O $300
H O $1,000[5F O $100
7 O $1.000[FFOfE $100
HOFR $200[t O+ $100
#FOZE $200[EH O $100
=50 $1,000|EHO$#, $100
HO $200[BROFK $100
HO{ $50,000|F O $100
TOZE $50,000{BHO B $100
BRO% $500 BB O $100
TOFHE $200[BROH $100
FO% $200[ER Ot $100
#®OH $200[BROF $100
HOEH $200[FRO2 $100
FROM $200[BROE $100
—0O% T $100|f Ot $100
s OBk $500[BR O4F $100
w16 $200[ 5O $500
FON $200[fR OF5 $1,200
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o $1,000 (B O $200
fOH $1,000[5RO%# $1,000
@ $300[5FOpL $200
EOR $300|1 ROk $200
FOZE $1,000|B10O% $100
Ok $300[PROZ $100
EO $100[FR O $100
®HO== $1,000OE $100
BEO2 $100|EEOA $100
#HOJE $200)iO%5 $100
HOH $200)850O FE 7 $1,200
HOE $200{5ROF% $1,000
HOH $200)5ROF% $200
A TR A E] $10,000[#£O%k $1,200
BHOBH $100| O $1,200
08 $100)47O H $% $1,200
= O $100] & Ofife $1,000
=OF $100|BEO % $1,200
=OR $100|FOFFE $1,200
= Qi $100[EFO $1,200
BEOAE $600| F OFk & $1,200
HO=F $100| EORLED $200
®O% $100|#5 Ol $100
#®OH $100|#5 O & $100
%HOBE $100|5R O $600
BEOE $1,700[E8OF5 $100
+O $200[FFO $100
FO=E $200| O] $100
FOER $30,000|EE OB $1,200
FOE $1,000|#1O H ## $1,200
FORE $100[EHOH $100
EO#x $1,000fa1 O $100
PR Ot $1,700/4a[ OlH] $100
BROZ $500|#F O $100
#0O $1,000|E£O ] $500
20= $200{#O 3L $100
5OHE $200050OM%E $100
{HEO®F $1,000| ZZE 4k E AR A H] $500
BO% $200|FE $60
ZOr) $300|BOE $1,200
—0O% T $500[FROZK $1,200
FOE $1,000{Z O $1,000
EOH $200|HO= $2,000
HO%E $250TOZ $2,000
EOXR $500[EFOFE $100
FOR $100|ZFOFH $300
OB $1,000[3# O $1,000
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ROR, $300[B1O%x $200
BOWE $500[ kO $2,000
ROF $1,000)BECOBH $1,000
BROSL $500)EFONH $1,200
AEOBK $2.000 O & $600
FO% $100[FORd $100
HOME $1,000) 7= O%L $200
HEO%E $1.000[E O $100
BIOF, $1.200[z=0% $100
HOHAE $500) 8 OFk $1,000
ZO1= $200|EOHE $200
£0% $500[52O3L $200
£0# $500[fO= $200
£0H $1,250|{H O $200
BROTK $1,250|BRO=L $500
£0f& $1,250[=O% $300
ZOHE $1,250[TO5A $2,000
IO $5,000[=E O $100
FOHR $1.200{Z2O% $3,000
BOF5 5 $1,200{= O $500
RO $1.200[=OfZ $1,600
HOH $1.200[=Ol5 $1,600
o OF $1.200[F=O= $3,600
EOH $1,200) 5 Ofk $500
O $1.200| EOREHL $3,600
2O $1,200(HOJI $3,600
POk $1,200)% OE $300
FOE $1,200) B Ok $1,000
#OAE $1.200 O $300
HBOH $1.200{BB Ok $300
O $1,200|Z= Ol $100
g OF $1,200|BORE $4,000
RO $1,200[FEOE $100
O $1,200) HHOF $100
RO $1.200[FEO= $100
RO $1,200)220 $200
FOH $1.200[Z0% $200
RO $1,200|1Z=O% $200
RO $1,200[ 4O $200
OB $1.20013 O $200
HOE= $1.200{20Ot% $200
IO $1.200[ZEO#E $200
MOH $300[2=OF% $200
HROF $2,000)3 O $200
RO $1.000[3£C0 $200
FO% $1.000[{EFOTE $200
ROE $3,000[FF O $200
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EEFLSAT $1,000{EFOBE $200
F (@) $5,000,000{#F O 5 $200
BROEE $1,200|FEOTE $400
EOMR $100|21O%E $200
HO%E $100|2IOBZ $200
EIO%E $100[EO#E $1,000
O $100[FEO1R $2,400
HOF $100|EEHASF $1,200
20OH S100[FEOME $500
F] O $100PEOFF $1,200
=ORME $500[# O $1,000
= O $500| A [E A A ABIER L LI TE S S RS $50,000
=OFEE $1,000[ = O 8L $10,000
=OH $500[Z2OZ% 2 $1,200
=OR $500|=ORE $1,200
F%,517(Daya Kusala) $100[= O $1,200
RO $100{ FE O3t $500
BEOE $500[8H OT $100
MOFEE $1,200|=0O=E $100
505 $100|=OFF $100
2O&F $1,000(BEOIE $2,000
FO=E $200| = Oz~ $100
OBt $100[FRO*E $500
HEOHE $120[&E O $100
20X $100[Z2O=F $100
HOE $100| = O%% $100
HOZFE $100( 8 O $50
RO $50| B O $50
FOM $2,000F8 O $100
 OFf $2,350| B O $50
Ot $2,350( % OFfEEE $50
EOX $1,000| = Of= $500
EO¥ $1,000|=OH $500
HO% $500( % OfE $50
HOE $300(FR O R $300
M OB $100[ZXOFE $200
YOR $100|£OE $700
BROIE $100[FEOR $300
ORI $100| F=OE $300
B OE $150[EFO $100
ZO%E $500[BRO1H $1,000
HFOT $100[ZXOF $200
RO $300|210O45 $100
TROEHE $300[FEO# $100
SO $300[F2OZ: $100
RO $1,000FEOFF $100
=0 $5,000|EO# $200
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RO $500[ O $100
BROME $500[ZR O $20,000
BROZR $100[FHOH (#0) $3.,600
EOTE $1,000| FO& $100
gO% $100[= Oz $100
sHOH $100[;TO $500
B O (0 $200PTO F $500
ZO&E $100|E=O= $500
RO® $200[ = O $500
RO#E $300[EO B $100
H=O $200[=O51] $100
POt $100[=OHE $100
E=OX $100|%2OF $100
BOH $100|E= O $500
OB $100[EO $100
HOF $1.000[EO= $100
FO#HL $150[H:O $500
PROZE $150[ & OB $100
BROZZ $1S0[H OB $100
BROH $500[FRO1E $100
AEOFEH $500[FROHE $2,500
fiti O 1 $100(% OF $100
fitt O>L $100[ EOZF=E $400
LO= $100| EOH $200
O $100[BROF $150
g O $100/2£04 $200
O $100[5FOT $200
2OZ $100[7RO¥ $300
HOZ $100|7ROEFH $300
FRO®E $100[ 52 Offg $300
e O $100[7RO $1,000
SO $300[FROFE $500
HOEE $300F O %k $500
s Offi $100fH Oz $100
sTOf2 $100[ O $100
BOT $100[EHOFT $100
EHOH $100] &= O (0 $200
sHO $100[#E Ot $100
RO $100[=OL $100
BRO B $100[21OA $100
@) $100[E= O8E $100
BROH $100[BROH $200
EROME $100[F ORk $200
BROE $100[EOHK $150
FROZ $100[FRO%E $150
BROE $100[BROZ $150
BROHH $100F O#A $200
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BRO4F $100[BROHE $200
BROLY $100[5EOF* $200
RO $500[tOAY $200
BRO#E $200[}OF=s2 $500
ROZE $1,000) i O $100
FIRG)DY $100[HEOL $100
PMOTR $100[s0O= $100
2O $100[BBO%) $100
BROZ $100[ & O $100
MO $100[ 2 OB $100
AHOE $100[ 2 OF $100
O $100[FEOZ% $100
AEOH $100[FROF $100
ROZR $200[= O $100
g O $1,000|E O $300
FO4 $2,000| B O % $300
T OELED $200[5F O $100
BOIE $100[ETOfE $100
BOM & $100[tO+F- $100
RO $600|EHOE $100
O $400[EH O #h $100
HOF $400[ 2O $500
BO# $400 | O $200
O $400|7E O $1,000
OB $100[ETORL $200
s Ok $3,400[HROEE $200
FHOFT $100[B1Of $100
O $100[BROZ $100
O] $100[FFOHH $100
sHOF $100[O & $100
O $100[H O $100
fafOle] $100)#E O $100
g Ok $600[7ROF% $200
FOXE $100| % Ol $1,000
RO 8L $300| B OHD $200
HROFHFE $300]| EOELED $200
HROZR $300[t5 Ol $100
BROZR $300[#5OF & $100
RO $300[#5 Ol $200
RO $300(ZOF5 $100
ROZE $300[FO $100
ROM $200|ZBOF( $100
B O8N $300[EAOFH $100
FROIR $300[{TO% $100
PROE $1,000]4af O] $100
H OF $1,000|E Oz $100
=07t $2,000)FE O] $500
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BOMGED $30,000[#FO % $100
BOZ& $10,00012501M $100
=HO®E $1,000|BHOH $600
FOEZL $10,000[FO= $1,000
HORE $1.000[EEORK $1,000
EROFE $1.200|1O% $1,200
BHOA $10,000TOR $400
HOE $500°TORk $400
HOHE $1,200) B OBE $400
BIO# $1,200)7ROFE $800
g OIE $100[ZFO# $400
MO $100[#OXF $400
7O $100[5FO= $12,000
=OE $100| RO $400
BOF $2,000|1#r O $400
HOTE $500[#E O $400
MO $50,000pTOE $400
PO $100 TOME $400
w=OE $1,200|5R O $400
HOE $100[FRO*G $400
FOHE $100[FIOF* $400
H O $100[21O#F $400
MORE $100,000{21OF* $400
HOBABIZR $100[E O $100.,000
HEOE $100[FEOZA $5,000
HOR $1,200)/FEO== $3,000
BROHL $300 | O $2,000
HOZ $1,200[ FOE $200
HO=E $1,200| O $200
#OHE $1,200| =05+ $200
EXO%F $1.200{EO&K $200
s O $1,200{ O $200
HOH: $1,200) 5 O%#, $200
MO E $1.200[z=OH $200
BOE== $1,200) &= Ok $200
210 $1,200| Oz $200
A O&E $1,200{F O $200
O $1,200|FOH $2,500
SEORF $100[FEOR $2,500
FOH $1.200|FOF $3,000
21O0% $1.200FOE $2,000
SO $1,200)FOH# $2,000
FHOE $1,200|FROZE $1,000
= OH $1.200{#4O%T $100
HOXEK $1,000|1E8&5F $200,000
w1 O $1,200[FRO 57 $100
HOJT $1,000)E=OF $5,000
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BOE $12,000[ZOFE $500
fal OBt $100[TO% $100
=O4E $1,200| T O $100
BOE $1,000[ T Ot $100
2085 $400[ T O $100
HEOFE $1,000[E O $100
HOF B $1,200| TOZ= $100
Z0¥ $1,200[ T OFE $100
O $1,200[ T OF# $100
{A O $1,200( 0% $100
SO $1,200|&x O $250
RO $1.200| &= O% $100
HHOFT $1,200| EO%s $250
B OTE $1,200[3O F 3 $200
EHOTE $1.200|FFOF %4 $300
s O $600|#H OFF4E $100
=ZOH $600[FRO5 $200
=08 $600[5O $200
EO% $520[ 0% $100
= OFg $1.200|#2O% $300
o2 $400([#5O%F $200
HOH $400[#L O $200
MO $400(F Ol $200
PROFS # $500| RO $2,000
Z2I0FH% $100|ZZHH &= $10,000
O $1.200{FEOE $100
O $1.200|BOF 4 $100
BOE $1,200[FECOHA $100
BRO%E $1,200[5=0 £ $100
501 $1,200[ &= O $100
EHO%E $1,200[#&O% $100
(A O#F $1,200|#OF $100
FORE $1,200|E= Qi $100
O $1.200|FR O $500
TOE $1,200/ 0 $200
=0t $1,2001F 0= $1,000
#HOTE $1,200[=O $1,000
FOMRE $1,200|&£ O EEEZ $800
=OHE $1.200{FEOt& $1,000
ZIO% $1,200[2 0% $300
FEORE $1,200{FEO%E $500
HOE $1,200| EOFk: $200
R O%k $1,200|FROZ= $500
BHO% $1.200[45O &, $12,000
MO $1,200[FEOHK $1,000
= Ok $1,200{# O $1,000
O $1.200|fHOHE $1,000
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BORE $1.200[Z£ O $100
BROZE $1.200|2£Of# $1,250
RO $1,200)BEEORK $1,250
RO $1,200)1220f(& $1,250
PR Ok $1,200[220%E $1,250
O $1,200|#I1OF $1,000
HOE $1,200|&F O & $2,000
RO $200[ EOE $1,000
A O $500| 2O $1,000
sTORE $1,200) & O $2,000
MO $1.200|EOR $500
FOH $500 R Oty $1,000
BRO%k $1,200[# OB $200
HOF $1,200)# O $1,000
sTOR $1,200|FO%# $500
HOH $1,200)42 O] $200
FO4& $1.200{#ROZ $1,000
H O $1,200{ 0% $500
O $1,200|HOF $500
i O $1.200[EO%k $1,000
EOEH $2,000[#OHE $5.000
FEOSE $1,200|1F OB $515
O $1.200[=0OF $2,000
=04 $500[FEOFE $1,000
FO% $100[#F O $3,000
2IO%> $100[FHOE $1,000
BOTE $2.000[ O % $200
EOH) $300 O %= $200
2O $5,000[5& O $200
BROf $1,200|52 O $1,200
EHOHR $1.000{FROF $1,200
BEOR, $20,000|HEOE $1,000
RO $750| 21O HD $2,000
10O $1.200PHO $800
BROAN $10,000|21O%% $800
£0% $T50[HO% $5,000
BO% $250 5= OHf $10,000
BO# $250[ & OB $5.000
BO# $250 B OFA@HD $220,000
£Z0Om $250[fR OF5 $400
BOM $1.000|FR O $400
RO $1,000[;& O/ $400
OB $750[7EOTT $400
ROEE $750|= O $200
O $1,200|{z=O%E $200
£Z0% $4,000)| = O $200
BEO=E $1,000[#OFAE $200
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FOE $1,000{FO = $1,200
TROK $1,000EOH $400
HOE $1,200[ZOEL $200
s O $1,200[ZOJEl $200
FOE $1,200[FR O $200
PR O $1,200|1220%5 $200
BOE $1,200[FROE $200
FO $1,200| RO Hit $200
BOg $1,200[FROFT $200
=OF $1,200(fTOH $200
PO E I $1,200|1 RO & $200
O $1,200|1#RO1& $200
PO $1,200(220 = $200
O $1,200|1 R O%E $200
EO% $1,200{22 04 $200
#O0# $1,200[Z2O $200
BEO% $1,200{8O % $200
2O $1,200({8 Ok $200
PRO5A $1,200|8E O3 $200
FOHM $500[EE O E $200
TORE $300|8EOFE £ $200
O RBIZ $800|BHOZ $200
ZO $300|BHOFZ $200
O $400|2£ O $200
RO $2,000[#5OHH $200
O $1,000[OE $200
ZIOE $300[#5OFE $200
R0O% $1,000|1#OH $200
BEO=E $100|1#5 O] $200
HOFE $100(5&Offm $200
HOE $100[fRO=L $200
1RO $30[ PR Ok $200
T Ok $35,000| R OF5 $200
BO& $2,000]FR OBk $400
H2O5 $5,000] &£ O & $100
TORBE $5,000[% OIE] $6,000
O $2,000{ BB O $1,200
RO $500| EO4 $1,000
HOR $1,000|1220%= $200
ey $5.000 EO% $100
ROEE $5,000{FR O $200
EOHH $300| RO $40,000
RHEE TS $1,000|1EEO[E $200
=0 $1,000{Z0O1E $200
=HOE $2,000|FRO&H $400
=OW $2,000| = O3 $200
ak O $300[FROF $200
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FAOTE $1.900|1 8 OF $200
HOR $1,000{#O%% $200
Ok $500[m=O%E $200
O $2,000[f1] Ok $200
TOREZD $2,000) & O $200
HOJI $2,000) % O $200
FO% $5,000[{T O %k $200
BIOZR $200[=OHE $10,000
HEORS $300| &= O $100
PO $3,000{ O« $1,000
BROF5 5 $500] &= O $1,000
BHOH $500|HO% $1,000
RO $2,500| =05+ $10,000
F O $100[FRO#G $100
HEON] $150[##0OH $1,200
RO $50(B O $1,200
0 $500)7 58 E250 $4,000
mOta $1,000[/5 & £256 $5,000
FOH $2,000|Z O $100
ZOREER $1,000|1ZOt& $100
BHOEE $1.000{EFO = $100
BOZ $1,000|Z O $100
EAOR $1,000|Z O $100
BO#H $5.000[Z£OH $100
ZORE $3,000[ 1 O $100
£ZO[E $600[HOFE $100
210 $5,000| £OE $100
TO#HE $300[ZBOHE $100
PO $500[FH O $100
BOST $2,000[EOEARS 5 $100
BIOF $100[##O%E $100
BROH $100[EOfS $100
ZOligg $100[HEO#E $100
BRO$ $100[EO% $100
BIOFEH $100| EOEER $100
RO $100[EO# $100
BIOEED $100[FROF $100
B0k $100[EOZL $100
ZIOE $100[Er OB $100
FEOM $100|Z2OREE $100
BIOHE $100[HEOz= $100
TOH $300[ & Ot $100
TO=E $100[E= OALIHE $100
BROFT $100| EOTT $100
FO $100| O HE $100
2O $100| EOHAD $100
RO H 9 $600| EO= $100
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MHOEE $3,000)77OL $100
FOF5rd $10,000[7F OJEL $100
ESOLS $500[5OF $1,200
HOZER $500[FR O1& $1,300
FORd $1,200|FH O $600
FROT $2,000)BE O $600
O $100[2OF5 $600
[ @5y $1,200) = O $600
EHOM $1,200|8X O%H $600
(M ih=r $2,000{ &= O5A $600
BOZ $100,000|&£O % $600
=0T+ $3,000]BROZE $600
BROBK $100[FROZ= $600
BROK $100[BROEH $600
PROZREY $200,000[E#OZF $1,200
HOE $100| RO $600
w=OE $100[BROE $600
EO# $100[/ROHE $600
B O%: $100|AROHi $600
B O%: $100| RO $600
BO%E $100[ZEO= $10,000
BOE $100|2 O $10,000
O $100|2 O $10,000
O $100|EO%x $1,000
BO= $100[fROF= $500
BO= $100[#O 5 $2,000
FO* $100[FROF* $200
FO% $100[z=0OH1 $500
FOH $100| EO= $200
T O $100[5ROFZ $200
ZOR, $100[ETOH $100
TOEEHD $100{TO4E $150
MHOBEHED $100|E= O $500
O $100[z= O4E $500
HOE $100) EOHE $500
HO $100|EHOAR $500
O $100[ZIO%H $100
s O $100[21OH $100
=OH $100[B[OHF $100
wOfE $100[21O I kd $100
s O $100[FNO% $100
OB $100[FEO4 $100
20 $100[3EO2 $100
Ok $100 38 OFx $100
RO $100|2OFE $1,200
=OJR $100|E=0OF $5,000
w=OE $100[HORKX $1,900
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O $100[EPOR $4,000
=O[ $100[£501= $5,000
=OM $100|ZIOJigk $100
2O $100|#50O% $750
PROZE $100|1# OBt $750
=HOFH $100[#50O $750
=OWE $100| RO $1,700
=OE $100[ZEOFT & $1,000
=HOB $1,200|12205% $200
BOR $200[FE O $10,000
EO= $200| =0T $100
POz $200| =0T $500
= OFERL $200| =0T $2,000
HO% $200[i O $600
BOZE $200| =0 %+ $500
A OHE $200|FROF5 #7 $500
OB $200{= O $500
BO& $200[z= OlZ $4,200
PROHE $200|F O $100
HOE $200|#5 O H $500
#HO%h $200[ZXOREHE $100
O $200|FE Ok $2,000
O F} $200|122OF: $300
#HOE $200|FEOH $600
= O $200|$EOF% $600
=O& $200|5HO & $600
EOR $200|FEOR $600
O $1,000[5E O $600
FOF $200|1% O 18 $300
AOATE $200[5=O%E $300
=HORK $2001#0O 5 $1,015
= ORI $200[4:OE $400
BOE $200)| EOf# $6,000
=O $1,200|ZOE. $750
FEETE $1,200[7OE $750
EROE $1,000[OFE $750
POz $100[ ORI $3,600
FOE $100fTOJE $6,000
FOE $100| EO1= $300
FO%E $100{FOH $1,000
FO%E $100{EFO A $1,000
SO $5,000|FHO% $1,000
Z0% $1,000[&= 0O $1,000
Z0% $2,000[EO%F $1,000
PR OFt: $100|=OE $1,000
RO $100[5=0O% $5,000
kO RE $1,200|1%O#% $2,500




MEEANSETRAIDFEHEENESE
VATFIHREE (TEEMR : BERFRE ARETL)

241 i E S X it i L
HO# $1.200|#O & $2,500
HO4 $1.200{5 O $500
NOES $1.200[BEOE $500
O $5.000|BHOF $500
BO£ $1,000|# Oz $500
O $1,000|21OF] $1,000
HOE $200[HFOE $500
HOE $300[HOF $2,000
HOE $500[FROZFE TR $10,000
HOE $1,000{ FO%)) $1,000
BROF $100[FOZ& $2,000
O $100[2EO A $1,000
PRO®E: $100[FEO#E $100,000
BROBE $100[EOF $3,000
T O $100|{E=OFx $500
BRORE $100[FROF% $500
RO $100[BB O $500
s O $100[&£O /L $1,000
BROZ $100[=OHR $3,333
sTOFE $100[HHOEE $3,333
sTO = $100[=O% $3,334
sTOE $100[FFOLL $2,000
BROAIES $600[FEEOE $3,000
O $100| O $2,000
O $100[#F O35 $30,000
TOF $100[7OH $100
TOF $100[5R O $100
=08 $100[#EOH $10,000
s O $100[FECO $30,000
s OH $100[BBOXE $600
=OH $100| P O $1,000
Ok $100|FR O $5,000
Ok $100|{HZta $2,000
+O8E $2,000{£5OFE $200
SO $1.000[FRO & $60,000
Oa $1.200)5RO&E $30,000
ORISR $1,200|ZIOF $300
TO8 $500|1ZFO1& $1,000
O $200[#£O $1,000
MHOF $200| &k O%X $300
BO#H $200[#F O $1,000
BO%E $200|2IO 2Tk $300
FHOHE $1.200{ZIO /= $300
Ol $600| 2O HD $300
AR ESU{ERE [ $6,567| 21O $300
BROS $100[F1OE $300
O $5,000[FEO/ $300
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MO $1,000{Z1OE $300
=0O% T $100[= O $100
A OPr $500[ = O $100
=OE $200 5 O $100
BRO3 $500[=O $100
FOBE $500[E= O% $100
TOXR $100[F O $100
JOR $100[FROE $100
TOE $100[=OFH $100
JTOE $100[=OMH $100
B O $100[=O1E $100
10= $100[BO%x $200
TORE $100[F=O 1 $300
T O## $100[FEOfZ $300
TO¥ $100[ kO $2,000
FRORL $250[ 5= Ok $1,000
= O $100|HE=COH $1,000
O $250|122 O $200
i O $50[=OR $100
g O& $50|EO%k $1,000
HBOE $100|FFO=E $1,000
=OHE $500[Z O E $15,000
T O $250|FROZE $2,000
2OZ $50[FEORERK $100
g OHEER $50|E= ORE $1,000
(OLs $500[HEOLE $1,200
g OB $50[ 84 O $1,200
E= O $500% Ot $1,200
£0% $500[ 2 OF $1,200
FOuk $500[ 2 OTE $1,200
ZONR $500| 8 O $1,200
A OHk $300[E O $1,200
FROFE $300] & Ot $1,200
i O $100[ =0+ $7,100
=OH $500|E= O $1,200
Ok $500[EO ¢ $1,200
i O $1.000[=O& $1,000
EOR $500[5O T $1,200
PO $100| FOFEE $2,000
RO $1,000| = OF {0 $1,200
FO# $500[E OFE $2,000
FEOR $300[EEO & $6,000
TOH $200[BEOECFED) $1,200
£ZOHE $500[ O $1,200
AO#% $500[FEOF $600
RO $315|= O &= $600
MO $100[5ROHk $1,000
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iR OAL $5.000[#ROZREL $100,000
ROZE $1,000| =05 $10,000
MHOE $500[= O $600
BRO3 $500[ = O $600
EORL $300[7RO%% $600
RO $100|E=OFE $600
ROH $100[#FOE $600
EHOM $100|F O $600
HOZR $100[FROZ $600
wOfE $100[ERO1E $600
1 QiR $100[fO = $600
AEORF $1,000) B O $600
SO $500|E= Ok $600
=10 $300|E= O $300
BRO#E $100[EOH $300
O $200[t5 O $200
+OF $100[EEOE $1,200
BT $200,000{#5OFE $200
MR $20,000|1O % $200
HO®E $1,000) ¥ OE $1,200
HORE $500[t5OF $2,000
FOEE $2,000{#%COF $2,000
BO# $20,000[57E O $1,000
1 OBl $30,000| RO $300
HOE $500[B1 Ot $300
B OxE $1,000|1#E O $300
RO $1,000[# O£ $300
BROA $50,000|FFOF $300
BO% $100[#EOW $300
BO# $100[Z O $300
BO#H $100[t5O— $300
ZOMk $100|FFO=E $1,000
ROEEAE $100[EEOE $1,200
ROF $100[EEOE $1,200
RO $100[EEOE $1,200
RO $100[EEOE $1,200
#HOEE $100[EEOE $1,200
E Ol $1.000[EE O $1,200
BOF $2,000/EEO % $1,200
HOE $500[EEOE $1,200
RO $1.200/ O $1,200
OB $20,000| B OZ% $1,200
HOE $500[EEOE $1,200
MO $2,000/ O $1,200
JLOZEH $1,200)¥OL $1,200
HOE $1.200/ O $1,200
ZFOZE $2,000[ O $1,200
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BOH ) $150,000[EEO X $1,200
BOH ) $150,000[FEE O $1,200
MHOZ $1.000) O E $1,200
EEORBED $1. 20010 e $1,200
BROBT $200[ Ol $1,200
PO $1,200) ¥ Ot $1,200
FO HER $1.000TOE $1,200
FOF8 $2.400)| EOAEE $1,200
PRORL $1,000| OBk $1,200
HOF $5,000[=O%E $1,200
RO $3,000[F=OH $1,200
HIOA $1.200[z=0O% $1,200
MO $1.200[H O $1,200
MO $1.200[EO>L $1,200
HIORE $1,200|EO= $1,200
HIOFE $1,200{#0O HEE $700
HIO= $1.200{ S OA $1,200
HRO= $1,200)BEO $1,200
PROMR $1.200[Z1OEH $1,200
HIOE $1,200[55O&F $1,200
BEO $1,200|1#+O $1,200
BRO $1,200| 5= O] $1,200
210 $1.200FO1E $1,200
H O $1.000[F O $1,200
POZR $1.000,000FOF $1,200
EEOZFAL $1.200|2£OF% $500
#HOH $2,000|FO%% $400
PROME $200|FO1E $400
RO $200|F O $400
20O $3.000[Z£O% $400
20O $7,000[FRO K $200
EROZE $200[FRO $200
RO $200fR OZ> $200
PO $1,000{BRO £ $200
B OMER $5.000|FO % $200
TLOH $800|FOf& $200
sTO4 $1.200{ZF O+ $200
O $200[ZFO%E $200
BROZE $200[ZFOfZ $200
w0 $200[HkOFE $10,000
fiti O $10,000|#k O 5 $3,000
EOZ $1,000|#k O $2,000
PrROZK $1,200|#k O $2,000
FO $1,000)#kO=L $1,000
MOZ $1,200|#k O $1,000
MO=EE $1,200|=O% $2,400
PO $1,2001#5 O $1,200
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PROTEN $1,200[#5O % $1,200
2O $1,200[ kO % $300
BOE $1,20017OzH $300
HO=E $1,000{ EOHK $1,200
HOZE $1,000|1Z£ O $1,200
BOH $1,000/ 2O F $1,000
5B $1,200[Z£O%8 $1,300
FOE $1,000{52OHH $1,000
BOF $100[ZONX $1,000
EORE $100[FHO £3% $1,200
BEO# $1,000[{HO4F $1,700
BROME $1,300|FRORK $1,200
BROBSE $500[ FEO%F $700
BIOZEEE $100);EO#E $700
2O $100[FRO=E $700
ZIOE WD $100[HEO#F $700
ZIOfRE $100[HO1# $700
F[@) $100); O $700
O/ $100[BR O $600
F (@) $100|7E£0O $1,000
;OB $1,000[iEORE $3,000
HOH $1,000] i O%t $1,200
O $300|iE O $1,200
#EOH $100|EO %% $1,200
OB $100|HEO %k $1,200
=OHE $200[fHOE $1,000
2O%& $1,000| = Ol $1,000
FOE $1,000/= O $1,000
—0O%+ $500| = O%F $1,000
HOZE $500| = Ol $1,000
BROAE $500| = O $1,000
R20¥) $500| 21O $1,000
HOR $300[FROE $100
ROHE, $300[FROJE $300
RO $5,000[ RO $300
BmOE $500[#5OF $300
Z0OH $500[#5OF $300
RO $50|FROE $5,000
FEOUH $300[5E Ok $5,000
ROZ $1,000|5EO2& $10,000
EOM $5,000{5EO — $3,000
O $500| 5 Ot $1,000
@) $1,000H O $1,200
IO $1,000| EFOEE $1,000
£0 $250|Z£ Ot $1,000
20O $100|125O)& $1,000
SOH%E $1,200| O $1,000
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fEh e ih=r $4.000| 22 O i $1,000
A O $100[ER O $100
LOEE $100| EOJH $1,000
TOE $100[BR OF5 < $100
ZFOE $100| EO% $1,000
=% $100[ £ O $1,000
=OH $100[F£OF $1,000
FOF $100| O $1,000
RO $200|FOF $1,000
+O $100| EFOT $1,000
O $100| EOH $1,000
ZOTR $100[F=OFE $1,000
#Ola $100[FO= $1,000
O $100| £ O $500
HOL $100[BROHK $300
O $100[EOHE $100
£Z0OH $100[EOHE $1,000
FOF $100[#FO= $500
FAOE $50,000{ =0+ $100
PO/ $1.000[fE O $1,000
A O T $1,000] 8 O $50
s O $3,000)% O $50
O $1.000[HEO $100
TOFE $500[ 2 OF $50
RO T $200[ & OHEEE $50
BROR $300[ O $50
HOH $300[7R O $100
BROE $300|F O $300
MO $200[EOR $500
AEOE $500)ZO%E $100
AEOE $300[m= O $100
EAOLEES $100| EO= $300
ZOR $100[BROAH $2,000
PROIE $100|PROZE $1,000
fiti OF $100|2£OH $250
TOZEZE $400|1Z2OFER $250
BROE $150[FEOH $300
£0 $200[FEOH $100
iTOTF $100[ZROH $100
RO $300[F= Ol $100
ROSHE $300[m= O $100
SOt $300[=OFE $100
RO $500] &5 Ol $100
BROME $500| 2 OFES $500
BROZE $100PTORE $100
GO $100°TORk $100
sHOH $100[F ORE $100
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B O (#0) $200[2£O & $500
HOE $100[ RO $200
RO® $200[ZFO# $100
RO#E $300[HAOLF $100
O $200|A O $100
POt $100[#OH $100
w3 $100[ O $100
BIOH $100PTOE $100
= ORE $100PTORE $100
SO $1,000|5ROMz $100
BROH $200[FRO %G $100
BRORL $200[FIOF* $100
TOHk $150[21O#F $100
PROZE $150[FIOF* $100
BROZ $150[fR O %= $100
BROFH $200[FRO%E $100
PRO e $200[FEO % $100.,000
FOH $200[FOHk $1,200
BOB $200[H= O $1,200
AEOFEH $500FE O $1,200
fiti O $100|1#FO% $4,000
fitt O=L $100[fORE $500
LO= $100[HEO= $1,200
O $100[#FO52 $500
g O $100[#EOW $500
g O/ $100[#F O $500
qOE $100|E=O% $1,000
FOZ $100[FRO#h $100
FRO®E $100[fROL $100
=08 $100[ =0+ $1,200
EOLE $300[ =0+ $1,500
HOEE $300[HEOF $1,200
s Offi $100[HEO=E $1,200
sTOfE $100[HEOE $1,200
BOT- $100[HEOHIL $1,200
EHOH $100|ZFO7K $1,200
sHO# $100[FOME $1,200
BROEK $100[BROAH $1,200
BROE $100[PBROTT $1,200
BRO B $100| 2O E $1,200
EROE $100[EOFE $1,200
BROH $100[#O% $1,200
BROTE $100)HEOK $1,200
BROE $100[sHOZ& $600
BROZ $100[FLOEE $1,200
BROE $100[#FOF $1.000
BROHH $100[FROF* $100
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BROLY $100[z= O $100
RO $500[BR O $100
BRO#E $200 | O $100
HRO%E $1,000{ O $100
RO $1.000) B O£ $100
sTORK $100[FROfZ $100
PMOTR $100[EFOi% $100
2O $100FR O $100
BROZZ $100[ETO*E $100
PO $100[EFO f, $100
AHOE $100[5TOZE $100
FEORM $100|£5 0% $1,200
O $100[FOH $1,200
ROZR $200[E O $1,200
g O $1,000) B OFL $1,200
BROAL $200[FR O $500
T OELED $200[EHO R $1,000
O $1,000 TOHE $10,000
Ol $100[#OE $10,000
BOM & $100[#FOA $10,000
PO $100|BxOFER $10,000
BOHi $200[#F O $1,200
FHOF $100)HE O $1,200
O $100)HEOF $1,200
O] $100[=OAE $1,200
sHOF $100 |5 O $1,200
O $100[ZFOE $1,200
fafOle] $100[HL O $1,200
HOzE $100[HEOTE $1,200
O $200) 3t ARG & $1,200
ROBL $200[FHOF5 $7,600
L RRes AR E] $1,000|F O $200
ZO1 $200|= 0O $1,000
BROHL $300[FROZ $1,700
OGRS $2,000|E=0OE $50,000
FEO#H $500 O $500
FOTT $500[5OZE $500
AEONE $500[Er O EERIZ $800
£0% $500|122OF $500
MO $300[FR O1& $1,000
FOFHEE $20017EOF $1,000
BOE $33,000[FFOF= $500
BROE $500[FHOZ $500
FEOM $300[21OF5 $1,100
BROF $200|2£O%# $100
BOH I $30,000| = OFZ kst $500
AROE $1,000| 52 OZ% $200
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RO $1,200| 5O $200
FO% $200)| £ OFE $1,000
2O $300| =0+ $500
ROEE $1,000]BE Ot $1,000
O $100[FORd $100
#FOE $1.200[FH O $1,000
HORE $100[5ROFZ $200
RO $30[LiO Su $2,000
RO $50|12OF $1,000
BROSL $500[5=OF H $3,000
HO40 $10,000[FEO E $300
O $10,000[#ROZ $1,000
A O $5,000| O $500
BROZE $500[FH O $500
HOLD $200[EO = $100
BROZE $100[/HOFE $500
EOX $200,000| O $500
HEORS EFER( $10,000| O $300
MO $4,000| ¥ OFt $25,000
2OT $600|E=OF $1,200
HOEF $600[EOF $100
BOHGED $50,000|=OHEE 5 $500
HOE $100[EO40 $500
=OW $600[FH:OHi $87
s O $600[HOZh $87
RO $600 O $87
s ORE $600[HOH $87
MO $600|122O%F $87
BROH] $600|2£ O $87
BROR $600 | O $87
BROIE $600[HOF5 5% $91
RO $600[ZFOF%L $13,000
BROLE $600[FEO4: $300
OB $600 | Fal R T 2 1 S B B ] et 34 $500
w=OF $100PFIEFEM B O AL $1,000
EO# $100[# O $200
FO* $100[ kO $200
+0O¥% $100[BHOE $100
OB $100[FOE $100
T O $100[5=O% $200
ZOR $100[ZEO7 $200
TOEEHD $100|Z2OfF $200
MOE D) $100[FFOZE $200
O $100|EOF% $200
HOE $100[EEO%% $200
HO $100 | i O $200
O $100 i O $200
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e O $100[#OF= $200
=05 $100|Z0O= $200
wOfE $100[ZBOHE $100
s O $100[FH O™ $100
OB $100[EEOEARSZ $100
AEO#R $1,000)3FO4: $100
O $1,000|EOFE $100
20 $100[HEO#E $100
Ok $100[EO% $100
O $10,000| EOBEREIZ $100
SEORF $100[EO# $100
BROH $100[fROF= $100
ZOligg $100[EOZL $100
BRO$ $100[f&r OB $100
Ok $400| 2 OREE $100
TO=E $100[HOZ $100
BROFT $100[ & Ot $100
£0# $500[= OAILIHE $100
£0H $1,250|121O8H $200
BROBK $1,250|1 £O7T $100
£0f& $1,250| EOHE $100
ZOHE $1,250| = OFAB $100
21028 $10,000{ FOF $100
EOLC $5.000) 77O $100
HOH $200[7EO &L $100
RO $200|5F O < Fd $10,000
s T O $100[BAOE $5.000
RO $1,200|BEOH $5,000
T O $500 O $500
EN@LE= $500[ & OB $100
BROTT $100[EOE $100
PROREED $10,000[ER O1E $100
=OJR $100(% OF $100
w=OME $100[BROF $150
s O $100/2£0O4 $200
O $100[ETOF $200
w05 $100[7RO¥ $300
RO $100[ 5= Offg $400
FROZ= $100[FROFE $500
s O $100|F O %k $500
w06 $100fH Oz $100
=01 $100| 8 O $100
PROZE $100[EHOH $100
TOE $100| 52 O] (#D) $200
FO4 $100| PO $100
=0T $3,000)E0O=L $100
HEOHE $1.000{FIOF $100
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i Ok $1,200|E=ORE $100
BRO$ $100[BROH $200
BROZE $100[FROEY $200
HOE $1.200{EOHE $150
RO $1,200) B O % $150
BROF $100[BROZ $150
O $100[FROFH $200
BROEE $100[BRO e $200
BRO M $100[52OF* $200
T O $100[#OFX $200
PRORE $100[HO=F=s2 $500
RO $100[HEOTE $100
§TO% $100[HEOL $100
BROZ $100[s0O= $100
sTOFE $100[BBO%) $100
sTO = $100[ & O $100
sTOE $100[ 2 OB $100
OB $100| O $100
TOF $100[HO%% $100
e O $100[FROF $100
s OH $100[=O#h $100
Ok $100[EB O $300
FOZE $300|H O $300
BEOjw $300[ET O $100
=EOFE $10,000[FFOfZ $100
TOEE $500[t O+ $100
£ O $500[EH O $100
ZOKE $500[EHO#4 $100
TOX $500[ 52O $400
£0fm $500F O $200
T O $500[5O%# $1.000
TOX $500[5=O= $1,000
FO% $500[5FORL $200
O $500[ OBk $200
T OB $500[FIOf% $100
FOF $500[BROZ $100
TOT $500[ RO $100
FO1H $500[HO & $100
O $500|FEOF $100
sHOTH $100[HO%H $100
BHORT $100[E OLEERK $100
EHOE $100[FEOREEHD $50,000
BRO&H $100[fT O $1,200
sHORS $100[5OZ%& $200
O $100[45O %2 $200
EOM $500| = O= $200
HORKE $5.000] = OFEAL $200
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=OW $500[t O $200
=50 $1,000)#H OFE $200
FO75 $150,000|#H OB $200
TORE $300[t O $200
HROF $30,000|#O%je $200
#FORMH $800[FH O $200
FRORL $300[FHOthH $200
Z Ot $300[FHOFE $200
MHO& $600[H OH:FF $200
HOE $3,000]H OHE $200
O $100| = O% $200
O $300[= O #: $200
BIOZR $200[FE O $200
HOME $300[ & Ol $1,000
PO $3.000) B OFF $200
FOH $1,900) = OF $200
FROAL $600| = O% $200
= OF $1,200| = O $200
HOIE $1.200{F1OF $200
FO% $1,000) = Off $200
PO $100[/RO1E $200
=0 $100[E= OBk $200
[ O4 $100[= ORI $200
FO# $500[#5OF $200
=OH $100| B OHD $200
=OH $100[ EO&LED $200
POZE $500[t5 Ol $100
BROFT $2.000) 8 OF & $100
EHO®E $2,020(t5 O $200
PO $1.200{58OF5 $100
FOI $1,200)15FO $100
ZIOEA $2,000[FBOF( $100
BO% $10,000|EHOF $100
B Ok $20,000| A1 O % $100
HOF $500[{TOlH] $100
SO $100[ER O $100
SO $100[H= O] $500
SEORF $100[#OE $100
SEORF $100[/FO1a $100
O $100| =05+ $100
O $100[EFOHE $5,000
RO $700[5TOZ= $5.000
#O $700[t5Of $1,000
FHOJ $700|ER O $1,000
EZOH $700[FRO % $1,000
FRO*% $700[FROH $3,000
BROB $700[5FOFE $3,000




MEEANSETRAIDFEHEENESE
VATFIHREE (TEEMR : BERFRE ARETL)

B b= s B2l P
#OBE $1,200[ 8 O $100
BOE $100[E O41 $100
AO=E $100| & Ol $100
BO% $100[2£O $100
TOEMZE $100|E OE ) $10,000
FO# $100| {2 FE AR /A 5 $100,000
BO% $100| [l = $10,000
FO $100|21OF $1,000
BO#I $3,000p T Ol $1,000
T O $200,000| 21048 $100
LR A S| $1,0001#0O 5 $1,015
RS EE—E] $2,000|1210O 3 $100
PROSTE $100|21O%F $100
OB $5,000|1 210 F $100
FA®) $1,200[B10% $100
PO $600FEO# $100
HOE $600[HEO 2 $100
sFO $600[F8 OF% $100
sFOFE $600| 21O Jigk $100
FO&E $600|Z2O%H $500
SO $600[ZEOZEE $500
FOE $600|FEO L $5,000
FrtORR $600|Z20OH $2,000
08 $600[ RO $1,000
ZE0O3] $600|EF O $100
ORI $600[EF Ot $100
HORE $600|#FOZE $100
2208 $600[#F O~ $100
SO $600|EF O $100
O $500[Z2 O $100
08 $500[fa O $100
TO% $100[FEO1 $200,000
TOE $100] B O $600
TO% $100| EOH $600
TO% $100[ TOM $500
BO $100[ EOE $300
TOZ= $100[ O $100,000
TORE $100[BIOf $300
TO# $100|=O&H $5,000
TOEB $100[2O HEE $5,000
Ex O/ $250| = O $2,400
EHOHE $100[BOE $4,050
TOH $250[=0%F $550
BEOEHE $200(=0%F $1,050
L@)'s $500[=0%F $2.800
Ok $500[=0%F $3,000
ZOK $500| £OT $300




MEEANSETRAIDFEHEENESE
VATFIHREE (TEEMR : BERFRE ARETL)

241 Pk A it i L
BROFE $300|F OFE $200
H OFFIE $100f OFE $400
i O $1,000|12O%E $5.000
PO $200[FEOFK $32,000
w0 $1.200{EO# $300
MHOEAE $200[=OA0 $300
BROTE $200| EOF $300
FOEL $200| EOFL $300
ZOR $200|#4 Ot $300
PRO#E $200| £ Ok $300
£0%H $200[ O $300
HOE $200|#AOF $300
PO $200[{TO* $100
HOLT $200|ZF O $100
fOH $200[FEO= $32,000
POfE $200[EOfF $32,000
HO1E $200[5= Ok $1,000
Z0E $200[ = Ot $10,000
MHO%E $200| £ OFE $300
Z 04w $200[REORE $1,500
£OWE $200[HEO P $1,500
#HO4E $200|EERIERE $32,000
HOZK $200 [ ¥ 2 e (RE D) $32,000
O $200[HOF $1,000
ZOE $200[#F OBk $1,000
BEOZEE $200[H O $200
BHOZE $200[#£O $1,000
BHORZ $200[FR O $500
2208 $100[ EOFFtE $200
BEOW $100[EOsf $1,200
BOE $100|E= O $400
BOH $100[FLOFHD $10,000
BOH $100|ZFOE $3,600
O $100)#HOfE $40,000
FEO i $100|2 O $1,000
FOE $200[ETOH $100
BROE $200[ZR O $300
SZOF $200[=O % $300
BROL $200| = P38 T fb ey $1,000
BROHL $200[= O $100
BROFT $200| 5= O $100
MO $200|E= O $100
£ZO0= $200[=O $100
MO $200[E=O%# $100
FEOfE $200[F O $100
FOi $200[FROE $100
PEOZR $1,000] &= OF $100
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HOFE $500[=Off $100
ROH $10,000|z=O1E $100
FHORE $3,000)E= O $100
70 $2,000|E=0= $50,000
PROE $1.500|¥ O $100,000
BROF $1,500| = O, $100
wOE $1,200) B O $2,000
B O $1,200#H OF $100
FHOrtE $200[ 5= O $100
=OT $500]+ORAE $300
LOH Ky $1,000[F O $700
=OE $2,000|EO%z $1,000
w= Ol $2.0001#%0O & $12,000
BROM $600[ = O $100
HOHE $2,000|122085 $200
T ORER $2,000[# O $200
s T O $1.000|2O& $100
HOJ $2,000[EEO1] $400
RO $10,000#£OF* $2.400
HOH#E $6.000[E O $100
BEO $500|F= O $100
FOt&E $1,000({ O $150
HEONE $500[#m O $1,200
BROZE $500[ O $100
EO# K $500|EEO $300
(OLs $500[# O $1,000
BOZEFR $2.500[# O $1,000
BROF5 i $500[#H O% $1,000
RO $1,500[3EOF= $1,900
£0O% $200[#AO40 $1,200
HORE $120|47 O 5 $1,200
=0OX $100[fAI OF $1,200
HO= $100[t5OHT $1,200
BOZE $100[# O $1,200
RO $50[E O $1,200
FEOR $300[EOH $400
2IO%> $200| 2 O82 $100
SO $100[5Ox $1,000
FTOZ $500[FF#EEESE $3.500
208 $300|RATLAZ B [ SRR KT T A $7,000
TRIEEE $500|FROFEE $1,200
BROBE $300[EOT $5,000
EEOF $700[EB O $1,200
EEOX $700|ZFO= $20,000
EEOF 1k $700[FRO % $2.400
BEOL $700[Ek O%X $500
EEOTT $700|1=0O%H+F $3,000
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=0O% T $1.000|1#kO38 $2,000
PO $2,000|Efan B EATRA H $1,000
O $300[%O1E $5,000
g O $250[FE Ot $100
GO $50[ RO $1,200
g O& $50[BROR $1,200
HBOE $100|BEO*2 $200,000
2OZ $50|=ZOF $500
g OHEER $50[fRO= $3.000
g OB $50[BEOFK $1,200
ROH $1,000)2 OFL $200
i O $1.000{5ROA $100,000
RO $1,000) B O $550
TOH $200[ 52O $700
BROME $1.000{FRO 5% $100
O $1,000|E=OF $5,000
ZO=E $1,000) &£ OBt $300
HOT $100[F=OZ¥ $1,200
HOT $100|E=ORF $1,200
O $100[m=Of& $1,200
A ORL $200[5OFE $1,200
HOE $100[#FOF5{F $1,200
ZOFH $100[FLOEE $1,200
BRO1E $1,100)3 O $700
FEOWF $2,000)5 OE (K $1,200
=0% T $100[HEOH $700
BRO3 $500[FLOFEE $700
= O $100[F=OF $1,200
O/ $200[ O $1,200
O $1,000 O = $1,200
A OHk $300 R O $1,200
FOE $100[HEOF $1,200
w05 $100[ZF O $300
w=OH $100[BROAI $10,000
SZOF $100|1 =0+ $358
ZO% $200| 52 OH $10,000
BROE $500[EEOH $1,200
PRO$E $100|E=OI=] $1,200
OB $500| RO Hg~Z $1,200
RO $600 R O $1,200
RO $1,000[AOfE $1,200
+O $100|E= O $1,200
+O= $100|ZFOFA $1,200
T O $500[FOE $1,200
20 $200[BRO&L $1,200
BROf $10,000[FEOF 1k $1,200
BRO $10,000[ RO $1,200
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BROHL $2,000) k5 O $10,000
=OF $1,200:5 O $10,000
O $600|{E=OE $1,200
05 $500|{=OFF $1,200
HOH $600[E=O= $1,200
HOFx $600[FOEE $500
sHOG $600[ T O% $100
HOR $600| I OJ= $100
HOH $600[ I O#F $100
BROZENL $1,200| T O $100
FAOT $2.400[EO1H $100
AOT $2.400[ TO= $100
BIOH $1,200) T OFE $100
BIOTEE $1,200) T O%#, $100
PO Hi ] $600| EO¥ $100
#O $1.000[HOJE $1,200
HOE $1,000)&£O8 $250
BEOH $1,000{ZIOEE $200
BOF $1.000[FOH $1,200
BROE $1,000[2£O % $1,250
FO% $600[BRORK $1,250
BROZ $100|122OE $1,250
#FO¥ $200[2£OF $1,250
A Ok $200| £ O $250
ROPEHE $2,000)7#% O T e $200
MO $5.000(#OEBd $1,200
FOH $500|ZF O $1,200
s O $6.000) R OF & $300
RO%E $5,000[#H O 45 $100
O $1,000| O $200
HOH $100[EO B $200
BEOR $600[= O] $200
BIOF $100[Z OIEl $600
BO®E $30,000| O 2 $600
BIOFEH $100[#£0O $600
RO $100[m=O%E $600
BIOEED $100|F=OE $200
B0k $100[2OF $200
2108 $100|4 O $2,000
FEOM $100[FH O $300
BIOHE $100[#FOF= $200
#OH $100|#EOFE $1,200
FEOE $100[#HAOHS $1,200
TO#HE $600[#FOFE $1,200
PROZE $100[#H O $1,200
PBROFX $1.200{ZFO%E $1,200
GO $1,200{ O $200
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BRO$ $100| EO== $200
BROE: $100|FOH $600
TOH $600 | f O%k $100
MOE $1,000150 $200
RO=HE $1.000[ZEO%E $100
BROF $100[# O $300
O $100[BBO&E $550
BROEE $100[#0O7%; $200
RO $100[#B O $200
T O $100[#BOHE $200
PRORE $100[EOE $1,000
RO $100[ZFOFE $300
§TO% $100[ZF0O $400
BROZ $100[HkOFE $30,000
sTOFE $100[EO R $100
sTO = $100[FBOFAL $100
sTOE $100[5OH $200
BRO i $1,200[52O A1 $200
HO®E $1.200(FROFF $10,000
HO4E $1,200[HLOEF $1,200
HO% $1.200{ £ Ok $300
FRORL $100| EO%E $300
ZOEE $100[ = O $600
HOz= $100[H O $600
BOE $10,000|21O#2 $10,000
BO% $1. 200/ O $1,200
HOHE $100[HAOHk $1,200
#HOBHER $20,000|FHOEE $2,400
HO%8 $2,400| = Offii $1,200
qOH $1,200| = OHi $1,200
GO $2,400|F2 O 25k $1,000
BEOF $10,000[ZFORE $400
BEOH $10,000F O $1,100
AEOE $500F OFx $1,200
EAOLEES $100[FRO#h $1,200
ZOR $100| H A (2 $6.000
frE S AR E] $5,000
/et $18,398,765 /et $10,221,601
=1 $28,620,366




